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IDENTIFICARATION

PRODUCT NAME: DUV11 OFFLINE RECEIVER TESTS
PRODUCT CODE:MAINOEC-11-DZDUR-R

RELERSE DATE:FEB 1977

MRINTRINER :DIRGNOSTICS

COPYRIGHT (C) 1977
DIGITAL EQUIPMENT CORPORATION, MAYNARD MASS.

THE INFORMATIC. IN THIS DOCUMENT IS SUBJECT TO CHANGE WITHOUT NOTICE AND

SHOULD NOT BE CINSTRUED RS R COMMITMENT BY DIGITAL EQUIPMENT CORPORATION.

DIGITAL EQUIPMENT CORPORATION ASSUMES NO RESPONSIBILITY FOR ANY ERRORS
THAT MAY APPEAR IN THIS DOCUMENT.

THE SOFTWARE DESCRIBED IN THIS DOCUMENT IS FURNISHED UNDER R LICENSE AND
MAY ONLY BE USED OR COPIED IN RCCORDANCE WITH THE TERMS OF SUCH LICENSE.

DIGITAL EQUIPMENT CORPORATION ASSUMES NO RESPONSIBILITY FOR THE USE OF

RELIRBILITY OF ITS SOFTWARE ON EQUIPMENT THAT IS NOT SUPPLIED BY DIGITAL.
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.REM

.REM
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2.2

02-FEB-77 08:16

.REM
GENERAL DESCRIPTION

THIS DIARGNOSTIC CAN CHAIN 16 DUV1I'S. THIS MEANS THAT

16 DEVICES CAN BE SEQUENTIALLY EXERCISED. THE DIRGNOSTIC
MAKES ONE PASS BEFORE PROCEEDING TO THE NEXT DEVICE
ggETEgNTINUES EXERCISING ALL DEVICES IN THIS FASHION UNTIL

gngpggxé%COESE&EEPEEggﬁiéR TESTS VERIFY THAT THE RECEIVER
REQUIREMENTS

POP-11/03 COMPUTER (LSI)

DUVI1 SYNCRONOUS/ISOCRONOUS OPTION

ONE CONSOLE TELETYPE OR EQUIVRLENT

STORAGE
THE PROGRAM LOADS INTO 4K OF MEMORY WITH BOOTSTRAP

LOADING PROCEDURE
THE_STANDARD PROCEDURE FOR LORDING ABSOLUTE BINARY TAPES

IS TO BE USED.

STARTING ADORESS
FOR RBSOLUTE LORDER

YK 017500

8K 037500

12K 057500

16K 077500

20K 117500

24K 137500

28K 157500

STARTING PROCEDURE
CONTROL SWITCH SETTINGS

NOTE: ALL SWITCHES RESIDE INTERNAL TO THE CPU AT ADDRESS
176.  THESE MAY BE SET VIR THE CONSOLE TTy BY DIRECTLY
MODIFYING LOC. 176.

NCTE: RUNNING UNDER APT-11, THERE IS R USER SWITCH REGISTER
= IN ORDER TO BE FLEXIBLE ON THE AVARILIBILITY OF THE

CALLED “SUSWR".
H31S CONNECTOR, ONE BI

T PRSSES STATUS TO APT-11.
BIT O IN SUSWR'REFLECTS THIS STATUS, A O = CONNECTOR
PRESENT, A 1 = CONNECTOR NOT AVAILIBLE.

.REM

-REM

SEG 0002
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4.1.1

4.1.2

4.1.3

4.1.4

4.2

4.3
4.3.1

4.3.2

4.3.3

02-FEB-77 08:16

RFTER PROGRAM LORD (INITIAL PROGRAM START)
ALL CONSOLE SWITCHES DOWN

TO MODIFY DEVICE VECTOR AND CONTROL REGISTER RDDRESSES
RFTER PROGRAM RESTART OR TO RUN MULTIPLE DEVICES

SKO0=1
TO START PROGRAM AT SELECTED TEST RFTER A PROGRAM RESTART
SuD1=1 (ONLY IN SINGLE DEVICE TESTS)

TO LXK ON SELECTEC TEST AFTER A PROGRAM RESTART
(ONLY IN SINGLE DEVICE TESTS)

SWO2=1

NOTELl: IN GENERAL SWOl WILL BE USED WHEN SWQ02=1 IS 'JSED
NOTE2: WITHOUI SWOl=1  "LOCK ON TEST™ WILL DEFARULY TO TEST 1
STARTING ADDRESS

THE STARTING ADORESS FOR ALL TESTS IS 000200

THE R%TRRTING SS_FOR ALL TESTS IS 000200

THE STARTING SS TO ENTER R SELECTED TEST IS 000200
THE STARTING RDORESS TO LOCK OH TEST IS 000200

PROGRAM AND/OR OPERRTOR ACTION

INITIAL PROGRAM START

4.3.1.1 LORD PROGRAM INTC MEMORY WITH RBSOLUTE LORDER
4.3.1.2 SET SWITCH REGISTER (LOC. 176) TO ZERO.

4.3.1.3 TYPE 200G.

4.3.1.4 PROGRAM WILL START.

4.3.1.5 THE PROGRAM WILL TYPE "DUV11 DZDUR-RA TAPE B" (ONCE ONLY)
4.3.1 6 _THE PROGRAM WILL TYPE "R™ TO INDICATE THRT IT IS RBOUT
TC START TESTING ,AND THEN TESTING WILL BEGIN

PROGRAM RESTART WITH ALL SWITCHES OOWN

4.3.2.1 THE PROGRAM WILi. TYPE "R" AND WILL COMMENCE TESTING
PROGRAM RESTART WITH SKOCL=!

4.3.3.1 SET SWITCH REGISTER (LOC. 176) TO R 000COl.

4.3.3.2 TYPE 2006G.

.REM

.REM

]

SEQ@ 0003




DZDURL. N1

EO1

DZDUR-A MACY!1 27(1006) 139-RPR 77 10:06 PRGE S
02-FEB-77 08.16

4.3.3.3 PROGRAM WILL START.

4.3.3.4 THE PROGRAM WILL TYPE " 1ST DEVICE: RECEIVER CONTROL REGISTER
RDDRESS™ AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBCARD

4.3.3.5 TYPE IN THE QODRESS THE FIRST RECEIVER CONTROL
REGISTER QDOPESE QEE REVU& TED
FOLL RRRI N>

IF AN INCORRECT ADDRESS IS TYPED ,THE PROGRAM WILL TYPE "~
AND WILL THEN REPEAT THE MESSAGE OF 4.3.3.M

4.3.3-B THE PROGRAN WILL TYPE ~VECTOR ADDRESS-" AND WAIT FOR AN

4.3.3.7 TYPE IN THE BASE RECEIVER INTERRUPT VECTOR RDORESS
FOR THE DUVI1 TO BE TESTED FOLLOWED BY R (CARRIRGE RETURN)

IF fN INCORRECT ADORESS IS TYPED ,THE PRocnnn WILL TYPE "7*
AND WILL THEN REPEAT THE MESSAGE OF 4.3

4.3.3.8 THE PROGRAM WILL TYPE "RRE YOU RUNNING HULT£PL§ DEVI(ES 2"
(Y OR N)-" QNJ WAIT FOR AN INPUT FROM THE TELETYPE KEYBOARD

4.3.3.9 TYPE IN THE APPROPRIRTE ANSWER YES OR NO FOLLOWED BY A
(CRRRIAGE RETURN)

IF AN INCORRECT ANSWER IS GIVEN, THE PROGRAM WILL TYPE “°*
AND WILL THEN REPERT THE MESSARGE OF 4.3.3.8

IF R "NO” ANSWER I? GéVEN JUMP T0 SECTION .3.3.12
IF A "YES" ANSWER 1S GIVEN:THE NEXT QUESTION IS RSKED

4.3.3.10 THE PROGRAM WILL TYPE “LRST DEVICE:RECEIVER CONTROL
REGISTER ADDRESS-" AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBOARD

4.3.3.11 TYPE IN THE RDDRESS OF THE LAST RECEIVER CONTROL REGISTER
ADDRESS OF THE DUVl TO BE TESTED FOLLOWED BY R (CARRIAGE RETURN)

IF AN _INCORRECT RNSHER IS TYPED THE PROGRAM WILL TYPE ™?%
AND WILL THEN REPERT THE EESSRG§ 4,3.3.10
NOTE:ALL RDDRES 1GUOUS

4.3.3.11.1 IF AN "OUT OF RANGE"™ ADDRESS IS TYPED
IE. MORE THAN 16 (10) DEVICES RWRY_ (UPWRRDS)..... THE
PROGRAM WILL TYPE “GUT OF RANGE:RETYPE LAST DEVICE RXCSR ADDRESS-*
AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBORRD

4.3.3.11.2 TYPE IN THE ADDRESS OF THE LAST RECEIVER CONTROL
REGISTER ADDRESS OF THE DUV1l TO BE TESTED FOLLOWED

SEQ 0004
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BY A <CRRRIAGE RETURN>

IF AN _INCORRECT ANSWER IS TYPED ,THE PROGRAM WILL TYPE "7
AND WILL REPEAT THE MESSAGE OF 4.3.3.11.1

IF R DEVICE ADDRESS LOWER THAN IST DEVICE ADDRESS IS TYPED...........
.SCHOOLS OUT......... THERE IS NO PROTECTION FOR THIS.

THE PROGRAM WILL DEFAULT TO TWO DEVICES ACTIVE (UPWARDS FROM

1ST DEVICE ARDDRESS).THE SAME APPLIES TO IDENTICAL RDDRESSES

TYPED FOR FIRST AND LARST DEVICE.

OBSERVE LOCATiCN & ACTREG: SEE SECTION 7.2

4.3.3.12 THE PRUGRAM WILL TYPE "8 OF SYNC CHARS
SELECTED (! OR 2)-" AND WAIT FOR AN INPUT FROM THE TELETYPE
EE}?%&REQS EEFER TO MANUAL FOR PROPER SWITCH SETTINGS OF

4.3.3.13 TYPE IN THE APPROPRIATE ANSWER ~1* OR 2" FOLLOWED
gE ?HéCRRRI?GE RETURN> . (NOTE:ALL MULTIPLE DEVICES MUST

IF AN INCORRECT ANSWER IS TYPED ,THE PROGRAM WILL TYPE "°"
AND WILL REPEAT THE MESSAGE OF 4.3.3.12

4.3.3.14 THE PROGRAM WILL TYPE "~ IS SEC XMIY SWITCH ESS5-2 ON? (Y OR N)-"
AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBOARD
4.3.3.15 TYPE IN THE APPROPRIATE ANSWER YES OR NO FOLLOWED

BY A (CARRIAGE RETURN>.(NOTE THAT ALL MULTIPLE DEVICES
MUST BE THE SAME)

IF AN INCORRECT ANSWER IS TYPED ,THE PROGRAM WILL TYPE "?"
AND WILL REPEAT THE MESSAGE OF 4.3.3.1H4

4.3.3.1¢% THE PROGRAM WILL TYPE ~IS SEC REC SWITCH ESS-3 ON?
(Y OR N)-" AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBOARRD
4.3.3.17 TYPE IN THE APPROPRIATE ANSWER YES OR NO FOLLOWED

BY A <CARRIAGE RETURN>. (NOTE: ALL MULTIPLE DEVICES MUST BE THE SAME)

IF AN INCORRECT ANSW:R IS TYPED ,THE PROGRAM WILL TYPE "?%
AND WILL REPEAT THE ESSAGE OF 4.3.3.16

4.3.3.18 THE PROGRAM WILL TYPE “IS OPT CLR ENABLE SWITCH
ESS-1 ON? (Y OR N)-" AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBORRD
4.3.3.189 TYPE IN THE APPROPRIATE ANSWER YES OR NO FOLLOWED

BY A <CARRIRGE RETURN>. (NOTE: ALL MULTIPLE DEVICES MUST BE THE SAME)

IF AN INCORRECT ANSWER IS TYPED ,THE PROGRRM WILL TYPE *?%

SEG@ 0005
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AND WILL REPEAT THE MESSAGE OF 4.3.Z2.18

4.3.3.20 THE PROGRAM WILL TYPE "RRE YOU RUNNING IN MAINT.
MODE EXTERNRL ? AND ...... DO YOU HRVE THE EXTERNAL MODEM
BYPASS JUMPER CONNECTOR ON ? (Y OR N)-* AND WRIT FOR AN
INPUT FROM THE TELETYPE KEYBOARD

4.3.3.21 TYPE IN THC RPPROPRIATE ANSWER YES OR NO rOLLOWED BY
R (CARRIAGE RETURN>. (NOTE: ALL MULTIPLE DEVICES MUST BE THE SAME)

IF AN _INCORRECT ANSWER IS TYPED ,TH PROGRRH WILL TYPE *?*
AND WILL REPEAT THE MESSAGE OF 4.3.

4.3.3.2¢ THE PROGRAM WILL TYPE "R™ TO INDICATE THART I7
HAS STRRTED AND WILL COMMENCE TESTING AT TEST |

4.3.4 PROGRAM RESTART WITH SW01=1
NOTE: THIS WILL ONLY WORK WHEN A SINGLE DEVICE 1S SELECTED
0, ,IT WILL NOT WORK IF MULTIPLE DEVICES ARE SELECTED
IF MULTIPLE DEVICES WERE PREVIOUSLY SELECTED,LORD 000200,
222 355557 SWO0=1 AND ANSKER “NO™ TO THE MULYIPLE DEVICE’ QUESTION
4.3.4.1 SET SWOl1=! IN SWITCH REG (LOC. 176)
4.3.4.2 TYPE 2006.
4.3.4.2 PROGRAM WILL START.

4.3.4.4 THE PROGRAM WILL TYPE “TEST PC-" AND WAIT FOR AN INPUT FROM
THE TELETYPE KEYBOARD

4.3.4.5 TYPE _IN THE ADORESS OF THE TEST AT WHICH THE PROGRAM IS TO
BE STARTED FOLLOMED BY R (CRRRIRGE RETURN>

4.3.4.6 THE PROGRAM WILL TYPE "R™ TO INDICATE THAT IT MRS STARTED
TESTING AT THE SELECTED TEST

NOTE: CARE MUST 55 ; N THIS FEATURE IS USED
SINCE THERE 1S ECTION AGRINST SELECTING AN ADDRESS
tHAT IS IN THE HIDDLE OF A TEST
4.3.5 PROGRAM RESTART WITH SWO2 =1
NOTE: THIS WILL OM.Y WORK WHEN A SINGLE DEVICE IS SELECTED
SEE NOTE IN 4.3.4 FOR MORE DETAILS

4.3.5.1 SET SW02=1 IN SWITCH REG. (LOC. 176)
4.3.5.2 TYPE 200G.
4.3.5.3 PROGRAM WILL START.

4.3.5.4 THE PROGRAM WILL TYPE “LOCK ON SELECTED TEST ? (Y OR N)-*
AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBOARD

SEG 0006
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4.3.5.5 TYPE IN THE APPROPRIATE ANSWER YES OR NO FOLLOWED BY A
(CARRIRGE RETURN>

IF A_NO ANSKER IS GIVEN: THIS L
AND THE PROGRAM WILL TYPE “R™ T
TESTING RT TEST 1

4.3.5.6 IF A YES ANSWER WAS GIVEN:THE PROGRAM WILL ACT AS FOLLOWS...
THE PROGRAM WILL TYPE "R" TO INDICARTE THRT IT MAS STARTED
TESTING AT TEST 1 AND WILL REMAIN IN TEST 1 UNTIL HALTED
OR F ANY KEY IS STRUCK ON THE TELETYPE ,THE PROGRAM
WILL rne%zs ON THE NExT TEST UNTIL A KEY IS SYRUCK ON
THE TELETYPE AND SO FORTH THRU THE PROGRAM. IF SWOl =1 IT
WILL PERFORM AS IN SECTION 4.3.4 ALLOWING ONE TO FREEZE
ON A SELECTED TEST RATHER THAN DEFAULTING TO TEST 1

OPERATING PROCEDURE
OPERATIONAL SWITCH SETTINGS (INTERNAL TO THE CPU, ACCESSED VIR LOC. 178B).
HALT ON ERROR

OCK ON TEST WILL BE IGNORED
0O INDICATE THAT IT HAS STRRTED

SKHIS =1

SKiIY =l LOOP ON CURRENT TEST

SKI3 =1 INHI3SIT ERROR TYPEOUT

SWHll =1 INHIBIT ITERARTIONS

SWI0 =1 ESCRPE TO NEXT TEST ON ERROR

SWO9 =1 LOOP ON ERROR

SWO2 =1 LOCK ON TEST

SWoL =1 RESTART PROGRAM AT SELECTED TEST

SKO0 =1 RESELECT VECTOR AND CONTROL REGISTER RDRESSES

S3PARAMETERS RFTER R_PROGRAM RESTART
TO INHIBIT "END OF PASS™ TYPEOUT - TURN TELETYPE OFF

ERRORS

ERROR HALTS (UNDER
THERE ARE FOUR DIST

PC+2 = ERROR PC
WHERE PC +2 IS THE ARDDRESS OF THE CALL TO THE ERROR HANDLER +2

REFER TO THE ABOVE "HLT™ IN DIAGNOSTIC FOR ERROR DESCRIPTION

CHECK RDDRESS @ RXCSR: TO LOCATE THE DEVICE PRESENTLY UNDER
TEST WHEN RUNNING MULTIPLE DEVICES

LSI ALL HALT ERRORS RETURN CONTROL TO 0.D.T.)
INCT ERROR TYPEOUTS

PC +2 = REGISTER TRROR PC
REGISTER -XPECTED ACTUAL
1BXXXX YYYYYY 222222

WHERE 16XXXX IS THE RDDRESS OF THE FRILING DEVICE REGISTER
WHERE YYYYYY IS THE EXPECTED CONTENTS OF THAT REGISTER
WHERE 222222 1S THE ACTURL CONTENTS OF THAT REGISTER

SEQ 0007
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b.1.4

6.1.5

b.2
b.2.1

b.2.2

6.2.3

6.2.4

k.3
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PC +2 = RECEIVER ERROR PC
REGISTER EXPECTED ACTUARL
16XXXX YYYYYY 222222

WHERE 16XXXX IS THE RDDRESS OF THE FRILING RECEIVER (RXDBUF) REGISTER
WHERE YYYYYY IS THE EXPECTED DATA CONTENTS OF THAT REGISTER
WHERE 222222 1S THE ACTUAL DRTA CONTENTS OF THRT REGISTER

PC +2 = TRANSMITTER ERROR PC
REGISTER EXPECTED ACTUAL
16XXXX YYYYYY 222222

WHERE 16XXXX IS THE ADDRESS OF THE FAILING TRANSMITTER (TXCSR) REGISTER
WHERE YYYYYY IS THE EXPECTED CONTENTS OF THAT REGISTER
WHERE 222222 IS THE ACTUAL CONTENTS OF THAT REGISTER

ERROR DESCRIPTIONS
SEE LISTINGS FOR DETRILS OF ERRORS

ERROR RECOVERY

SK1S =0
IF THE PROGRAM IS RUN WITH SW1S =0 ,NO OPERATOR RCTICN IS
REQUIRED TO CONTINUE TESTING

SWIS =]

IF THE PROGRAM IS RUN WITH SW1S =§ ,TO CONTINUE TESTING
AFTER THE PROGRRM HAS HALTED ,PRESS THE PROCESSOR
CONSOLE “CONTINUE SWITCH™

NOTE: THE PC 4 2 OF THE “HLT™ WILL BE DISPLAYED IN THE DRTR LIGHTS

ILLEGAL INTERRUPTS
IF AN INTERRUPT OCCURS TO R VECTOR RDDRESS NOT SELECTED
DURING PROGRAM INITIALIZATION, THE PROGRAM WILL HALT IN
THE TRAPCATCHER. THE ADDRESS AT WHICH THE PROGRAM

HALTS IS 2 GREATER THAN THE RDDRESS TO WHICH THE INTERRUPT
OCCURED. THE PROGRAM MUST BE RESTARTED AT 000200 T0
RECOVER FROM THIS ERROR.

ADDITIONAL TROUBLESHOQTING AIDS ERRCNT: & PRSCNT:

CHECK THESE TWO TRG LOCATIONS FOR TOTAL ® OF ERRORS AND PRSSES RESFECTIVELY.

LORDING 000200 AND RESTARTING WILL CLERR THESE LOCATIONS.

END OF PRSS ROUTINE
THIS TYPEQOUT IS MENTIONED HERE FOR CONVENIENCE
IT IS IN THE FORM:

END OF PASS TAPE Y
16XXXX = DEVICE

SEQ 0008
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7.3.1

7.4
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WHERE Y IS THE TAPE LORDED

WMERE 16XXXX IS THE DEVICE'S BARSE REGISTER ADDRESS
TO INHIBIT THIS TYPEOUT - TURN TELETYPE OFF
RESTRICTIONS

MULTIPLE DEVICES
UP TO 16(10) DEVICES MAY BE TESTED. HOWEVER, THEY
MUST HAVE CONTIGUOUS RDORESSES AND VECTORS

NOTE: IF ALL DEVICES UNOER TEST ane THE SAME INTERRUPT VECTOR
YOU CAN CHANGE °“ZERO:  RDD BASEIV - NEXT BLOCK
(VECTORS)™ TO "ZERO: RDD 80 anéexv*

THEREBY THE VECTOR ADDRESSES WILL NOT BE'

UPDATED AFTER ERCH PASS.

DISQUALIFYING DEVICES WHEN RUNNING MULTIPLE DEVICES

WHEN RUNNING MULTIPLE DEVICES AN ACTIVE BIT xs SET
FOR Encu DEVICE RUNNING UNDER TEST IE. BIT O F
DEVICE 0 ,BIT 1S FOR DEVICE 1S

T0 DISQUALIFY DEVICES:

IF DEVICE 0 IS TO BE oxsounLIF ED ,SIMPLY RESTART
PROGRAM WITH SW30 =1 AND OMIT T # IRST DEVICE.

IF HOMEVER, DEVICES 1 THRU 15 OR ANY COMBINATION THEREOF
ARE TO BE DISGQUALIFIED.. Lono THE LOCATION OF ACTREG:
OBSERVE THE RCTIVE BITS (ACT IVE =1, NONACTIVE = Q)

AND DEPOSIT O WHERE THOSE DEVICES ARE TO BE DISQUALIFIED

7.2.2.1 ¥0 RESTART...TYPE 200G..

HE PROGRAM WILL CONTINUE WITH THE DEVICE IT WAS IN BEFORE HRLTING.
7.2.2.2 ....... OR ..... SET SWO0=1 IN SHITCH REG (LOC. 176) AND TYPE 200G....

QNSHER THE QUESTION :1ST DEVICE : ETC...........
.THE PROGRAM WILL CONTIMUE WITH DEVICE 0

7.2.2.3 IF ALL DEVICES ARE DISQUALIFIED BY MISTAKE _ THE PROGRAM
WILL TYPEOUT AN ERROR MESSAGE....... TYPE 200G.

CABLE DELRYS
NOTE: EXTERNRL LOOP BHCK TESTS ONLY (MODEM CABLE WITH H31S CONNECTOR ON)

TO PROVIDE SUFFICIENT DELAY FOR CLOCK SIGNAL OVER THE CABLE

LOCATION “HOLD:* MUST BE MODIFIED TO ACCOMODATE FOR FASTER MACHINES.
PRESENTLY “HOLD:” =20 IS SUFFICIENT TIME ON AN 11/03 MACHINE.

BASICALLY DON'T TRY TO EXCEED 10K TO 12K RATE USING THE EIR DRIVERS

TO USE THE “XCOR™ TESTER ,THE BRANCH AROUND THE "XOR"™
CODE MUST BE PATCHED TO A “NOP“., (SEE LISTINGS FOR DETRILS)

SEG 0009
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DEFRULT PARRMETERS:
IST DEVICE: RECEIVER CONTROL REGISTER ADDRESS- RXCSR: 160010

VECTOR RDDRESS- DURIV: 770
RRE YOU RUNNING MULTIPLE OEVICES ?- NO MULTD: O
LRST DEVICE: RECEIVER CONTROL REGISTER ADDRESS- LASTADD: O
¢ OF SYNC CHARS SELECTED - 2 SYNCNO: 377

IS SEC XMIT SWITCH ESS-2 ON?- YES SEXMIT: 377

IS SEC REC SWITCH ESS5-3 ON?- YES SEREC: 377

IS OPT CLR ENRBLE SWITCH ESS5-1 ON?- YES OPTCLR: 377

DO YOU HAVE THE EXTERNAL MODEM BYPRSS JUMPER
CONNECTOR ON (H315)- YES JMRBY: 377

PROGRAM DESCRIPTION
THIS PROGRAM PERFORMS THE OFFLINE RECEIVER SECTION TESTING

OF THE DEVICE
SEE LISTING FOR DETRILS

FLOW CHARTS: RECEIVER FLOW, TRANSMITTER FLOW, TRANSMITTER & RECEIVER FLOW

LISTINGS

.REM

.REM

SEq 0010
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52l
S22
583
Say
S2s
S26
527
Sa8
S29
530
83l
Sy
833
S34
S35
S36 000002 112767 00000!
S37 000010 112767 CO000!
S38 000016 000403
S39 000020 112767 000001
sS40 000026
sS4l 000026 010046
S42 000030 010146
S43 000032 105767 000206
S44 888838 001450
545 122767 000001
S46 00004 001031
S47 0000S0 132767 000100
S48 0CO0S6 001425
S Em an o
S51 000072 882757 001430
€Se 000076 001375
S53 000100 010067 001436
SS54 000104 10S720
S55 000106 001376
SS6 000110 166700 001426
557 00C11M 006200
SS8 0J0116 010067 001422
©59 000122 012767 000004
S60 000130 000413
Sbl 000132 017667 000004
Se2 000140 062766 000002
S63 000146 016746 177624
Se4 0001Se 767 012556
S65 000156 000000
S6b 000160
S67 000160 105767 000062
Se8 000164 OC1416
S69 000166 005767 001354
S70 000172 001413
S71 000174 005767 001326
S72 000200 001375
573 000202 017667 000004
574 000210 062766 000002
S75 (000216 005267 001304
S?6 000222 1050867 000020

LO1

.SBTTL APT COMMUNICATIONS ROUTINE

o o JE0030 JHIE 338 36 36 3836 36 36 38 38 96 36 36 36 38 96 36 36 38 6 36 36 36 3 96 26 338 96 38 9 38 3 3 96 3 € 38 6 36 9 3¢ 36 3¢ 3 36 9 3¢ 6 36 % 36 3 36 3% X 3¢ 3

000236 $ATYl: MOVB
300226 SATY3: ggva

000220 SATYY: MOVB
SATYC:
MOV

MOV
TSTB
PEQ
001500 CHPB
BNE
001471 RTTg
BEQ
MOV

RDD
18: TST
BNE
MOV
2s: 1518
BNE
SUB
RSR
MOV
001376 Egv
000016 3§: MoV
000004 RDD

000004

4s: .WORD
cs:
108: TST8

118: 15T

001320 MOV
000004 ROD

12§: CLRB

81, SFFLG
Ri'-(2p)

- )
SMLG
5§
BAPTENV, SENV

3%
$RPTSPOOL , SENVM

%3(59) RO
82, 4(SP)
SMSGTYPE

18
RO, SMSGAD
(RO)+

es
$MSGARD, RO
RO

RO, SMSGLGT
84, SMSGTYPE

1
34(SP), 4s
82, 4(SP)
172776, - (SP)
Ec,srv#s

SFFLG
12§
SENV

12§

SMSGTYPE

11§

34(SP), SFATAL
82, 4(SP)

SMSGTYPE
SFFLG

s 70 REPORT FATAL ERROR
+:TO TYPE A MESSAGE

;;70 ONLY REPORT FATAL ERROR

; ;PUSH RO ON STARCK
;;PUSH R1 ON STACK
;;SHOUL? TYPE A MESSAGE?

s IF NOT: BR
; ;OPERATING UNDER ARPT?
;3 IF NOT: BR
: s SHOULD SPOOL MESSAGES?
;:IF NOT: BR
;s GET MESSAGE RDDR.
« :BUMP RETURN RDDR.
;;SEE IF'DONE W/ LRST XMISSION?
s3 IF NOT: MWRIT
; ; PUT RDDR IN MAILBOX
+ s FIND END OF MESSAGE

:;SUB START OF MESSAGE
}1GET MESSAGE LNGTH IN WORDS
t:PUT LENGTH IN MAILBOX
! 1TELL APT TO TAKE MSG.

+ :PUT MSG RDOR IN JSR LINKAGE
.: BUMP RETURN ADDRESS

s :PUSH 177776 ON STACK

! 1CALL TYPE MRCRO

; ;SHOULD REPORT FATAL ERROR?
1IF NOT: BR

;2 TF NOT: B
s sRUNNING UNDER RPT?
:;IF NOT: BR
+ s FINISHED LAST MESSAGE?
tIIF NOT: WAIT
:1GET ERROR #
: -BUMP RETURN RDDR.
. TELL APt TO TAKE ERROR
; tCLERAR FRTAL FLAG

SEQ 0011
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677 0226
S78 3
S79 (000236

T

S82 000244

2 B00%:2

19-RPR-77

02-FEB-77 08:19

105067
105067
012601

846387

000013
00C006

10:06 PAGE 14

MO1

APT COMMUNICATIONS ROUTINE

CLRB
CL¢B
MOV
H?V
RTS
SMFLG: .BYTE
ZkFL : .EYT‘
FLG: .BYTE
.EVEN
APTSIZE=200
APTENV=001

APTSPOOL=100
APTCSUP=040
$TN=1

SLFLG
SMFLG
(SP)+,R1]
(SP)+,RO
PC

0

y

; ;CLEAR LOG FLAG

; ;CLERR MESSRGE FLRAG
; ;POP STRCK INTO Rl
;;PSP TACK INTO RO
:+ sRETURN

s s MESSG. FLAG

:LOG FLAG

+ sFATAL FLAG

SEQ 0012




DZDUR-A MARCY1l 27(1006)
12-0CT-76 10:29

DZDURR.M11

ble
613

i

616
617
618

oo

UL

RS

&

BRRRERRER

001100

000011
000012
000015
000200
177776

1772774
1772772
177570
177570

19-APR-77 10:06__PRGE 16

NO1

APT COMMUNICATINNS ROUTINE
.ENRBLE RBS

 REYL A RER S8, 0 e Y raL cauteMENT coRP., MAvNARD, MAss. 01754

.SBTTL

&TACK=

.EQUIV EMT,ERROR
.EQUIV 10T, SCOPE

lHISCEL%?NEOUS DEFINITIONS

; STRRTING PROCEDURE
TYPE 200G
: PROGRAM WILL 1P "BUV*I DZDUR-A TRAPE B "

:PROGRAM WILL TYP

0 INDICARTE THAT TESTING HAS STARTED

‘AT THE END OF A PASS, PROGRAM WILL TYPE “END OF PASS TAPE B"
'AND THEN RESUME TESTING

BASIC DEFINITIONS
.#INITIAL ADORESS OF THE STACK POINTER x#¥ 1100 axx

:;8ASIC DEFINITION OF ERROR CALL
:1BASIC DEFINITION OF SCOPE CALL

1106

; ;CODE_FOR CARRIRGE RETURN-LINE FEED

.,PROGRRH INTERRUPT REQUEST REGISTER

AT= - :CODE FOR HORIZONTAL TRB
LF= 12 : 1CODE FOR LINE FEED
CR= 15 : :CODE FOR CARRIAGE RETURN
CRLF= 200
PS= 177776 : 1PROCESSOR STATUS WORD
.EQUIV PS,PSW
STKLMT= 177774 . s STACK LIMIT REGISTER
PIRG= 177772
OSWR= 177570 : HARDWARE SWITCH REGISTER
ODISP= 177570 ,,Hnaounns DISPLAY REGISTER
. XGENERAL PURPOSE REGISTER DEF INITIONS
RO= %0 ; ; GENERAL R£c§ TER
Rl= 71 116 ERAL REGISTER
R2= % ca E3RL REGISTER
R3= %3 ,,cs nF ol REGISTER
R4= 74 i G LF :I TE%
RG= %S 16 N )1
R6= %6 $iGt . 4 K_GISYER
S S
SO :&&&uqé
iPRIORITY LEVEL OEFINITIONS
#no- .,anoaxrv LEVEL O
= & EEv
= 140 .. Y LEVEL
e 58 g
PR7= MO ..monm LEVEL 7

'gx'cu “@srzr SWITCH CEFINITICNS
ﬁ:

——— . b

- e e ——

- e

SEQ 0013




DZDUR-R MACY11 27(1006) 1959P9-7? 10:

DZDURA.N11

12-0CT-76 10:29

:

010000

et

000100
000040

000010

:

=

000001

000004
0C0010

mmg
D
uw
O

£ECS

Or—NU)

&

e

.EQUIV

§ mmmmmmmmm
ERRRRERRE

Ll L e T
HIND KCCCCCCLS

e Pss s P e P
O"N(f-l:tﬂ—l
mnu

ELN

B

— L t OO0 OODoOMODO0s— N £ —

o

« « D00 ODoO@MOOoomDe--
TRVTTITTY 00 0t 0t ) Dt ) D) Bt Pt Pt it D) P e g P
O

28

-EQUIV

. ¥BASIC
ERRVEC=
RESVEC=

PRGE 17
DEFINITIONS

BIT DEFINITIONS (BITOO TO BITIS)
100000

40000
20000
10000
4000
2000

[ ]

000
400
200
100
40
20

o

Dl puf Pt P 9=t D=t D=t =g =4 P4
% S A3~
S2REZRARSB3
= =g = 0-~g 0G0 0= Pt 0—4 0—4
d =~ —
O— W £ DD

- e W W W ® e e w -

B
B
8
8
B
8
8
8
8
B8
T

RAP VECTOR ADDRESSES
¢ £¢ ;s TIME OUT AND OTHER ERRORS

: 'RESERVED AND ILLEGAL INSTRUCTIONS

SEQ 00IY




DZDUR-R MACY11 27(1006)

DZDURA.N11

19-RPR-77

1e-0CT-76 10:29

000014
00001M
000014

10:06 PAGE '8 _
BASIC DEFINITIONS

TBITVEC=1M
TRTVEC= 1M
BPTVEC= M
IOTVEC= 20
PWRVEC= 24
EMTVEC= 30
TRAPVEC=34
TKVEC= B0
TPVEC= &M

PIRQVEC=240

Coc2

sio1 BIT

;  TRRCE TRAP

+ + BREAKPOINT TRAP (BPT)
;;INEET/OUTPUT TRAP (IOT) *%SCOPE#*x*
: s POMER FRIL

+ sEMULATOR TRAP (EMT) ®#%ERROR#%#

s s "TRAP” TRRP

;3 TTY KEYBORRD VECTOR

;s TTY PRINTER VECTC"

: s PROGRAM INTERRUPT REGUEST VECTOR

SEQ 0015
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DZDUR-A MACYL1 27(1006) 19-APR-77 10:06 PRGE 19
DZDURA . M1) 12-0CT-76 10:29 BRSIC DEFINITIONS SEQ 0016

;gg -STANDARD INTERRUPT VECTORS
7%
737 000174 217N
738 000174 000000 oxspnec 0
;33 000176 000000 suggg
;35 000200 000167 001746 . IMP .START .GO TO STRART OF PROGRAM
N3
794
78 001100 .=1100
74 001100 000000 .WORD O
;3; 001102 177570 LIGHTS: 177570
749
750
;Eé : PROGRAM CONTROL PRRAMETERS
753 001104 000000 RETURN: O
= R R o B D TR R
;gg oniiis ggggoo Rggg} 0 - ADORESS courn?nxngﬂpkss COUNT
1.8 38 .
;gg 301116 558088 AVSP: 8 : STACK Pofnrgg g?ggncz
;E? : PROGRAM VARIABLES
762 001120 000020 HOLD: 20 : TEMPORARY STORAGE=DELRAY TIME FOR CABLES
763 001122 003000 SHIFT: O : TEMPORARY STORAGE= & OF SHIFTS PER CHAR
768 001124 000000 COUNT: O : TEMPORARY STORAGE= # OF TIMES A CHAR WILL BE SENT
765 001126 000000 SAVPC: O : PROGRAM COUNTER STORAGE
766 001130 000000 HLDO: O
767 001132 00000C HLDI: O
768 001134 000000 HLD2: O
769 001136 000000 HLD3: O
770 001140 000000 HLD4: O
771 001142 000000 HLDS: O
772 0011d4 000000 HLDB: O




CZDUR-R MACYL1 27(1006)

DZDURR.N1!

™

775 00114

;;? 811‘47
1150

778 001151

779 001152

780 001153

781

782

783

784 001154

785 001156

786 001160

787 001162

788 001164

789 001166

790

791

792 001170

793

79

795

796

797 001172

798 001173

799 001174

800

801

802

12-0CT-76 10:29

377
377

77
377
000
377

19-APR-77

EO2

10:06 PAGE 20
BRSIC DEFINITIONS

SYNCNO:

T
OPTCLR:

MULTD:
JMRBY:
.EVEN

BRSEADD:

KEEPADD:

ROTARDD:

INIFLG:
STFLG:

s PROGRAM CONVERSATIONAL PARAMETERS

BYTE 377 .8 OF smc CHA Rio D FOR SYNC’ZATION
g 1 77 1SEC XMIT JUHPE

'an 3;; 85‘%:35%‘5?%(%@3 = IN"

BYTE O NO MULTIPLE DEVICE FLAG

.BYTE 377 'EXTERNAL MODEM BYPRSS JUMPER *IN"

; PROGRAM HULTIPLE VI
ES ESNTROL D ! T DEVICE RDDR

:SAVED 1ST DEVICE AD

kQST EsN¥ESb%EBSR RDDR

:GAVED INTR VECTOR
‘RCTIVE REGISTER ,,,MODIFY THIS

: LOCATION T0 msaﬁh(m on QUALIFY

:DEVICES (l= DON’T RUN)

0 'ROTATING Pomrsh toa ACTREG. . POINTS

s T0 DEVICE PRESENTLY UNDER TEST WHEN RUNNING MULTIPLE DEVICES

O00000

; PROGRAM CONTROL FLRGS

.BYTE O ; PROGRAN INITIRLIZRTION FLRG
.BYTE 0 :TEST START FLAG
: .BYTE O :LOCK ON CURRENT TEST FLAG

T ™)

SEQ 0017




FO2
| .
| DZDUR-R MACYL1 27¢1006) 19-APR-77 10:06 PAGE 21
DZOURA.ML1  12-0CT-76 10:29 BRSIC DEFINITIONS

80N
80S
806
ggg s INSTRUCTION DEFINITIONS
809 005746 PUSHISP=S746  ;DECREMENT PROCESSOR STACK ! WORD =TST -(SP)
810 005726 POPlSP:SES& éECRERSNT SSOR STﬂCK 1 WORD =TST (SP)+
811 010046 PUSHRO=10046 K =MOV RO, -(SP)
813 DaqEdt POPROSLEM0 o irEaiont RO ’%'E“.? STACK =Hbv e Rlep
813 2638 PUSHESP=gdgub  iQECREMENT STACK TWICE =CMP (3P (3F)
815 :REGISTER bEF INTHIONS
816 RXCSR BIT DEFINITIONS
817 100000 osc-aér% -DATR SET CHANGE
818 040000 RING=BI ' RING
819 020000 CTS-BITIB :CLR TO SEND
820 010000 CARDET=BIT12 : CARRIER DETECT
821 004000 RECACT=BIT11 *REC ACTIVE
822 002000 SRO=BIT10 :SEC REC DATA
823 001000 DSR=BIT8 :DATA SET RDY
824 000400 STPSYN=BITS S'RIP SYNC
825 000200 RXDONE=BIT? DONE
826 000100 RINTEN=BITB REC INTR ENABLE
827 00040 DSINTE=BITS :DSC INTR ENARBLE
828 000020 SYNSCH=BI T4 : GYNC SERRCH
829 000010 STD=BIT3 :SEC XMIT DATA
830 000004 RTS=BIT2 'REQ TO SEND
831 000002 DTR=BITI :DATA TERM RDY
832 000001 VOID=B1T0
833 ;RXDBUF BIT OEFINITIONS
83Y4 100000 RXERR=81%15 REC ERROR
835 040000 OVRRUN=BITINY : OVERRUN
836 020000 FRMERR=BIT13 s FRAME ERROR
837 010000 PARER=BIT12 'PARITY ERROR
833 -PARCSR BIT osrxﬂsﬂﬂons
839 001000 PRREN=BI}S ENABLE
840 000400 EVPAR=BIT8 'EVEN PART v SENSE
B} Pnncsn WRD DEFINITION
842 030002 SYNINT=3000 - SYNC EXTERNAL MODE
843 020060 SYNEXT= aooou :SYNC INTERNARL MODE
844 000000 1SYMOD=0 : 1S0C MODE
84S 000000 FIVE=0 ‘WORD LENGTH 5 BITS
846 002000 51x=2000 WORD LENGTH & BITS
8y? 004000 SEVEN=4000 :ORD LENGTH 7 BITS
B48 006000 EIGHT=6000 'WORD LENGTH 8 BITS
B49 000000 NOPAR=0 N0 PARITY
850 001000 0DDPAR=1000 00D PARITY
851 001400 EVEPAR=1400 :EVEN PRRITY
852 . TXCSR BIT DEFIN}TIONS
853 100000 DNR=BIT15 :DATA NOT AVAILABLE
854 040000 MTDRTA=BITIY4 *MAINT DATA
855 626000 CLK=BITI3 ' CLK
856 002000 BITW=BITIO :BIT WINDOW
857 000400 MRESET=BITB ' MASTER RESET
858 000200 TXDONE=BIT7 :XMIT DONE
859 000100 TXINTE=BIT6 :XMIT INTR ENRBLE

SEQ 0018




DZOUR-R MACY!11 27(1006)

DZDURA.M11

12-0CT-?6 10:29

000000
004000
010000
014000

19-RPR-77

GO2

10:06 PAGE 22
BRSIC OEFINITIONS
DNRINTE-BITS :DNA_INTR ENAB
SEND=BITH : SEND
HDXEN=BIT3 * HDX/F DX
BREAK=B1TO BREAK

s TXCSR WRD osrxnir:ons

USER=0 USER MODE
MINT=4000 "MRINT INT MODE
MEXT=10000 *MAINT EXT MODE
SYSTST=14000 'SYSTEM TEST MODE

St£Q 0019
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HOZ2
b
DZDUR-A MACYL1l 27(1006) 19-RPR-77 10:06 PAGE 23
DZDURA.M11  12-0CT-76 10:29 COMMON TAGS SEG 0020
ggg .SBTTL COMMON TAGS
871 H ST 0006 066 36 96 06 06 36 06 06 30 90 36 06 6 96 96 36 30 3 98 9% 36 96 3 38 3 98 3 96 96 36 3% 3 3 9 9 36 3 6 9 3 96 36 30 3 4 2 36 96 3% % 3 3 % % ¥
g;g ;ﬁagég }ﬁe%secggggéga VARIOUS COMMON STORARGE LOCATIONS
874 ' '
87S 001400 .=,
g;g 331383 500000 $SCMTARG: R0 . :START OF COMMON TAGS
7 oRE e B 3 GBI DI s
88 Bol4oe 900000 Siculy hoe0 O {1 CONTANG SUBTEST TIERATION COUNT
832 001410 000000 SLPERR: .WORD O : \CONTRINS SCOPE RETURN FOR ERRORS
883 001412 000000 SERTTL: .WORD O s 1CONTA ng T?TRL ERRORS DETECTED
B34 001414 380 SITEMB: .BYTE O : 1CONTAING ITEM CONTROL BYTE
= R e | e e o
887 8314 888883 iESﬁSS; Iuong 8 EEESNTniﬂg ESOSEsgngr l;c:oon' ogrn
ggg 00{:55 000000 saono§: JMORD O ;;cgn;gxns 9009£5502§R'ano' DATA
830 001426 388383 2388375 IuénB 8 ;Egonrnfﬁg '3889 DATA
ggé ggi:gg 000000 - WORD 3 : 'RESERVED--NOT TO BE USED
833 001NN E ooé SAUTOB: Ia@ré 0 : :AUTOMATIC MODE INDICATOR
ggg 88{332 000 SINTAG: .BYTE 8 : 'INTERRUPT MODE INDICATOR
B35 OC1440 157570 SWR: .WORD  DOSWR - :ADDRESS OF SWITCH REGISTER
ggg 83%::5 §77570 2¥§§L“Y’1'”°RB DDISP “??9“&33 ggﬂgﬁganv REGISTER
899 001446 177562 §TKB: 177562 :1TTY KBO BUFFER
900 001450 177564 §TPS: 177564 t1TTY PRINTER STATUS REG. RDDRESS
2Bl s i o e SR
903 001455 002 §FILLS: .BYTE 2@ t 1CONTAINS 8 o? EILLER CHARACTERS REQUIRED
304 D01456 0le SFILLC: .BYTE 12 : 1 INSERT FILL CHARS. AFTER A “LINE FEED"
S0S DO1457 000 §TPFLG: .BYTE O P I*TERMINAL AVAILRBLE™ FLAG (BIT(07>=0=YES)
906 001460 000000 SREGAD: .WORD O : :CONTRINS THE ROORESS FROM
Qg7 s T WHICH (sasggé WAS OBTAINED
39 01485 200000 Shead: WO B 1 GO I SREcD)+0)
910 001466 000000 SREGD: .WORD @ - :CONTAING ( (SREGRD)+4)
91 001470 000000 SREG3: .WORD O : 1CONTRINS ((SREGRD)+6)
912 001472 000000 SREGY: .WORD G ;;conrnxgg ( (SREGARD)+10)
dh Bin s R TR (e e
915 001500 000000 STMPl: .WORD O : 1USER DEF INED
916 001502 000000 §TMP2: .WORD @ : {USER DEFINED
917 001504 (000000 §TMP3: .WORD O : JUSER DEFINED
318 001506 000000 STMPY: .WORD O : {USER DEF INED
919 001510 000000 §TMPS: .WORD O : JUSER DEFINED
920 001512 000000 STIMES: 0 ' 'MAX. NUMBER OF ITERATIONS
921 001514 000000 SESCAPE: 0 : 'ESCAPE ON ERROR ADDRESS
922 001516 177607 000377 SBELL: .ASCIZ <207)>¢(377>¢377> ::CODE FOR BELL
923 001522 077 §QUES: .ASCII /?/ : 'QUESTION MARK
924 001523 015 §CRLF: .ASCII <15 : 'CARRIAGE RETURN




88888888

SERoRERR

8
P
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£
o

28888
R222g
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DZDOUR-R MACY11 27(1006)
DZDURA.NM11

000
0o0

000000

000
000

13-RPR-77
12-0CT-76 10:29

001524 000012

10:06 PAGE @M

COMMON TARGS

SLF:

.RSCI2

-]

102

:;LINE FEED

;-!ll!!lllll!!il!lll!!iilllillll‘il!i!!!ililli!!!liii!lilil!li!l!
'8BTTL APT MAILBOX-ETRBLE

o » JEIHIR 63 S 30 00 30 36 36 306 38 36 38 6 3098 36 3 06 36 36 606 36 06 36 06 3806 38 00 38 00 30 90 38 36 3 90 36 36 36 06 36 00 48 06 50 3 3% 30 30 00 30 0 30 3 3 O

’

' EVEN

SMAIL :
$MSGTY: .WORD
SFATRL: .WORD
STESTN: .WORD
$PRSS: .WORD
SOEVCT: .WORD
SUNIT: .WORD
$SMSGRD: .WORD
$MSGLG: .WORD
SETARBLE:
SENV: BYTE
SENVM: _BYTE
SSWREG: .WORD
SUSWR: .WORD
SCPUOP: .WORD
;'l'

;!

;i

;!

1

. ¥

§MaMS1: .BYTE
$MTYPLl: .BYTE
;!

;l

R 4

- %

tgnonl- . WORD
§MaMS2: .BYTE
SMTYP2: .BYT
$MADRZ: . WO
SMAMS3: .BYTE
SMTYP3: .BYTE
SMADR3: .WORD
SMAMSY: .BYTE
SQAYPH: .BYTE
;VE8$T: .uogg
;gggga: . WORD
SOEVM: .uogg
$COWL: .WORD
$COW2: .WORD
SO0M0: . WORD
S$O0WL: .WORD
$O0K . WORD
SODW .WORD
$ODWY .WORD
SODWS: . WORD

RCPUOP

AMAMS |
AMTYPL

AMADR!
AMAMS2

i

AMAMS3
RHTYP%
AMRDR

RMAMSY
RMTYPY

AvERT]

RVECT2
ASE
VM
ACOW]
ACOW2
R00WO
ADOW]
RDDWZ
ADDWJ
RDDWY
ROOWS

s s APT MAILBOX
; ;MESSAGE TYPE CODE
: ;FATAL ERROR NUMBER

$ 1PASS COUNT

; ; DEVICE COUNT
+s1/0 UNIT NUMBER
; MES ABDRESS

1 3 OP W IROMAENT TRBLE

! (ENVIRONMENT BYTE
: (ENVIRONMENT MODE BITS
:1APT SWITCH REGISTER

1 G3ER S T S ons
0

04=01,11/0S=02,11-,20=03, 1 1/4C=04, 11/45=05
7!13_ r%.2[30:07,0:10

BIT "9=FLOATING POINT PROCESSOR
BIT B=MEMORY MANAGEMENT
. sHIGH RODRESS,M.S. BYTE

' MEM. TYPE,BLKS]

MEM.TYPE BYYE -- (HIGH BYTE)

300 MEC BiPoLaRz002
500 NSEC M0S=003

< sHIGH S5, BLKS
PEH.L%M.#! éYTES,THIS WORD AND LOW OF "TYPE"™ ABOVE
: sHIGH RDDRESS M.S. BYTE

1 MEN. ’ Kh

2 H.LQS$ Ebonsss,atxca
; sHIGH RDORESS M.S.BYTE

;;HEH.TYP?,BLK

: :MEM.LRS SS,BLK#3
: ;HIGH RDORESS,M.S.BYTE

s MEMLT ,GLqu

(1, ng K#Y4

. INTékgLSPT'?IECFagb?LBUS PRIORITYS]
L L Tt v
;;Sééic?°ﬁﬁi

: 1 CONTROLLER DESCRIPTION WORDSI

: 1 CONTROLLER DESCRIPTION WORDS?2

s 10EVICE DESCRIPTOR WORDSO

: :0EVICE DESCRIPTOR WORDS]

‘;DEViCE BE§CR PTOR WORDS

s 1OEVIC CRIPTOR WORDS

: :DEVICE DESCRIPTOR WORDSH
} :DEVICE DESCRIPTOR WORDSS

3
»

SEG 0021
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DZDURAR. ML 1

981

001626

2a1e%

001634
2018

001642

12-0CT-76 10:29

001684 00
001646 000000

001650

001652

000000

13-RPR-77

o
w
ADDKSY
Wil
Wil
RDDWI2
ADDW13

RODW 1Y
ADDW1S

10:06 PRGE &5
APT MAILBOX-ETABLE
sooﬂgz .WORD
iBBueE IHSEB
soo:?é .zoao
30810 - HORD
§OOW12: .MWORD
§ODW]3: .WORD
SO0WI4: .WORD
$ODWIS: .WORD
SETEND:

—— —— —— —— e ame———

Joe

; ;DEVICE DESCRIPTOR WORD#6

BEVIEE BERCRIETAN HoRpez

; ;DEVICE DESCRIPTOR WORD#9

i BEVIEE BeacRlprdn WORBALT
: ; DEVICE DESCRIPTOR WORD#12
: ;DEVICE DESCRIPTOR WORD#13
: ;DEVICE DESCRIPTOR WORD#14
; ;DEVICE DESCRIPTOR WORD#1S

—— — — —— -

SEG 0022




DZDUR-A MACY1l 27(1006) 19-APR-77

DZDURA.M11
997

RERREEREEEE

Pt Pt et Pnts Pt Pt e Pt Pt Pt P o P
DDOB

ol ot

n—-OWw

—r— P
(@ wn | o]
bt b p
(AP N

1016

12-0CT-76 10:29

KO2

10:06__PRGE 26
RPT MAILBOX-ETABLE

; INSTRUCTION DEFINITIONS

e 4pzE800" ?ﬁSEEHE"¥ Progtezeh BT |

PUSHRO=10046 RO ON STACK =MOV R )

POPRO=1 ; RO_FROM STACK =n6v (SP)+,
PUSHOSP=24646 NT STRCK YWICE =CMP -(SP)|
POP2SP=22626 INCREMENT STRCK TWICE =CMP (SP)+.

s REGISTER OEF INTHIONS

.RXCSR BIT osrxnxrxons

DSC=BIT'§ ;DATA SET CHANGE
RING=BITIY ING

CTS=BIT13 CLR TO SEND

C T-g T12 : CARR n DETECT

RSS T=81T11 ,hES Tl

SRO=BIT] SEC REC DATR

DSR=BIT9 :DATA SET ROY

TPSYN= }r aTRIP SYNC

280t s

RINTEN=BITE :REC INTR ENRBLE
DSINTE=BITS :DSC INTR ENABLE
SYNSCH=BI T4 : GYNC SERRCH
STD=BI13 :SEC XMIT DATA
RTS=BIT2 'REG TO SEND
DTR=BITI :DATA TERM ROY

VOID=BITO

-RXDBUF BIT osrxnxrxons

RXERR=BI}]5 ;REC E
OVRRUN=BIT1Y4 ovsnnuu
FRMERR=BIT13 :FRAME ERROR
PARER=BIT12 *PARITY ERROR

.PARCSR BIT DEFINITIONS

PAREN=B119 -PARITY ENABLE
EVPAR=B1T8 EVEN PARITY SENSE
.PRRCSR WRD DEFIAITIONS

SYNINT=30000 sSYNC EXTERNAL MODE
SYNEXT=20000 :SYNC INTERNAL MODE
15YH0D=0 : 1S0C MODE
FIVE=0 : HORD LENGTH S BITS
3& -200800 uoag LENGTH & BITS

VEN=4 NGTH ? BITS
£ IGHT=6000 : WORD LENGTH 8 BITS
NOPRR=0 Ogopnn TY

PAR=1000 PAR]ITY
EVEPAR= 1400 'EVEN PARITY
TXCSQ BIT DEFIN}TIONS

na-axré :DATR NOT nvannaLs
MTDATA= 5714 ' MRINT DATA
CLK=BIT! ' CLK
BITW=BITI0 :BIT_WINDOW

SET=3178 'MRSTER RESET

TXDONE=BIT? 'XMIT DONE

TXINTE=BITH 'XMIT INTR ENABLE

SEG 0023
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1053 000040
1054 000020
1055 000010
1056 000001
1057

1058 000000
1059 004000
1060 010000

1061 014000

LO2

10:06__PRGE 27

RPT MAILBOX-ETABLE

DNRINTE=BITS :ONA_INTR ENAB
SEND=BITH t SEND
HOXEN=B1T3 : HDX/F DX
BREAK=BIT0 BREAK

: TXCSR WRD oerxntrlons
USER=0 s§
MINT=4000 MAINT INT MODE
MEXT=10000 *MAINT EXT MODE
cYSTST=14000 'GYSTEM TEST MODE

SEQ 0024
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' DZDUR-R MACY1l 27(1006)
DZDURR.M!1

1062

1063

25

1067

1068

1069

1070

107}

1072

1073

1079

107S

1076 001682

g —
UL (H]

18;2 00 1225 00 506

1080 001656 002116

1081 001660 002132

10 00lebe 002022

10 001664 002067

1084 00l66b 002116

108S 001670 002132

1086 001672 002043

1087 00167M (002067

1088 001676 002116

1089 001700 002132

1090 001702 001746

1091 001704 000000

1092 001 002126

1083 00171 002132

1094

1095

109 041712 160010

1097 001714 160011

1088 001716 160012

1099 0017 160013

1100 001722 160012

1101 001724 160013

11 17 1 14

11 17 1 1§

11 17 1 16

1108 001734 160017

1106

1107 001736

108 021740 000772

1109 001742 000774

}ii? 0017494 000776

1112 001746 020040

1113 001754 (020122

1114 001762 020040

111§ 001770 0S110}

1116 001776 Q42440

1117 0C2004 O474M0

12-0CT-786 10:29

19-APR-77 10:06 PAGE ¢

8
ERROR POINTER TARBLE

MO2

.SBTTL ERROR POINTER TRBLE

;iTﬁéS
(2T
: #LOCA

{aNOTER:

]
#
4
*

$ERRTB:

RXCSR:

HRXCSR:
RXDBUF :
HRXDBUF :
PARCSR:
?;ﬁRCSR:
HTngﬁ:
TXDBUF :
HTXDBUF :

DURIV:
DURIS:
DUTIV:
DUTIS:

EMY:
EM]1:

047522
000040
050115
047117
0S1117
042522

—
H.—-mg

—

-

RRR2F

R
ION SITEMB. §H?g

fack'1

EM
b7
OF

;ERROR TRBLE
gMl

B 15 Bdadl coRtalNg
E;POINTS TO0 THE ERROR MESSAGE

=

: tPOINTS TO THE DATA FORMAT

8y
1 RTA
OINTégS

NTS TO THE DATA HERDER
NTS TO THE DATA

:ERROR 1 REGISTER ERROR
DH1
DTl
DF |
55? :ERROR 2 RECEIVER ERROR
0Tl
OF1
ng :ERROR 3 TRANSMITTER ERROR
0T1
OF 1
Enq : ERROR 4 BIT ERROR (GENERAL)
DTY
DF1
-DEFAULT DU ADDRESSES
160010
160011
160012
160013
160012
160013
893
160016
160017
-DEFAULT DU VECTORS
270 :REC INTR VECTOR
772 ‘REC_INTR STATUS
774 XMIT INTR VECTOR
776 *xMIT INTR STATUS
: ERROR MESSAGES
'ASCIZ / ERROR PC /

.ASCIZ » COMPARISON ERROR ON REGISTERS/

HE INDEX NUMBER FOUND IN
ICATES WHICH ITEM IN THE(T?E&% IS PERTINENT,

XPLA

gﬁﬁﬁgsonnnréggcrgn EACH ERROR THAT CAN QCCUR.

)
?NED AS FOLLOWS:

SEG 0025




!
'
|

NO2
DZDIRATACYLL &7(4008) | A3SBPR=77  10: Db DR FOTNTER TRBLE SEG 0026

01.
{}18 qusg? 0sele3 0s1108
11%8 §g§6H§ eS 503 EM2: .ASCI1Z / RECEIVER ERROR/
1189 h BeTiRE Busad
l12e pSilez O0S1117 000
1123 040 052040 040S22 EM3: .ASCI1Z / TRANSMITTER ERROR/
1124 0S1Sle 0O4451S (0S2l24
112S 0S1l 04e440 0Sllee
1126 0Si11? 000
1127 :DATA HEADERS FOR ERROR MESSAGES
1.28 10S 0Sl1122 041520 DH!: 'ASCIZ /ERRPC WANTED RCTUAL/
1129 020040 040527 052116
1130 042105 (020040 0M150!
1131 002110 0SeS24 046101 000
1132 00211b .EVEN
1133 ;DRTA TABLES FOR ERROR MESSAGES
1134 002116 001416 001130 00113z DTI: " WORD $ERRPC,HLDQ,HLD!,0
iigg 002ied 000000
iigg 002126 00IM16e 000000 DTN: .WORD  SERRPC,0
1139 002132 000 000 000 DFl: .8yTe 0,0,0,0
1140 00213S 000 ’
114] .EVEN
H:g .SBTTL ACT11 HOOKS
1194 § s I MR I R
1145 hooxs REQUIRED BY ACT1l
1146 002136 SSVPC=, ; SAVE PC
1147 00046 .=Mb
llﬂg CO004% 012532 SENDRD +31)SET LOC.46 TO ADDRESS OF SENDAD IN .SEOP
114 0000Se s
1180 000052 000000 . 0 ,,EJSET LOC.Se T0 ZERO
115} 002136 .=¥SVPC s RESTORE PC
{igg .SBTTL RAPT PARAMETER BLOCK
1154 o 36336 398 16 30 S0 0-30 038 08 08 300 06 08 3198 209008 S040-SH0E 00 3008 90 36 06 08 38 90 08 48 96 38 3 96 38 36 36 4 36 36 98 30 30 36 36 6 36 36 3 36 3 3 3
ug én LOCATIONS 24 AND Y4 RS REQUIRED FOR APT
11 § SR I R I T S S IHE 3 0 333 B 4 R
11 002136 $X=. '3 SRVE CUF £NT LOCAT]ION
}{Sg 000024 00004 2884 i POHER FQ*L TO POINT T0 START OFf PROGRAM
11 W !!pg'iu‘rv 10 APT INDIRECT RDDRESS PNTR.
1161 00004 136 !ﬂPTHDR +:POINT TO APT HERDER BLOCK ‘
11 002136 : X RESET LOCATION COUNTER
il ; s SEEEEEE P Ly e e L L \
1164 SETUP APT PRRAMETER BLOCK RS DEFINED IN THE APT-PDPI1 DIAGNOSTIC
1165 ; INTERFRCE SPEC.
1166 .
41& 1 4 . \
il l : . 0 :; TWO HIGH BITS O¢ 18 BIT MAILBOX RDDOR
ilgg i ! . SMAIL  ;;RDORESS OF RPT MALILBOX (BITS 0-15)
o 21 . 13 s RUN T1 OF ngEEST ETT
il T R0 10 RN T ISECS oF ToT pass 6 L UNT QUICK SERIFKL.
;;7§ ﬁfg .”" ﬁ mw-wxu; + LENGTH MIL x§E 3&. (WORDS) ’

-

. we e -
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DZDURAR.N11 12-0CT-76 10:29 APT PRRAMETER BLOCK SEQ 0027

;PROGRAN INITIALIZATION
'LOCK OUT INTERRUPTS

!SET UP PROCESSOR STACK ,

!SET UP POWER FRIL VECTOR

!CLEAR PROGRAM CONTROL FLAGS AND COUNTS
!TYPE TITLE MESSAGE

002152 .START:
.SBTTL INITIALIZE THE COMMON TRGS
:;CLERR THE COMMON TAGS (SCMTAG) ARER

BRSRRELR BB BIRARBRCB I Jotol 2

Pt Pt et Pt s P Pt P Pt Pt ot Prm Pt P Pt Pt it Pt Pt it P P Pt Pt Pt st Pt e

D02152 012706 001400 MOV 8SCMTAG, RE : sFIRST LOCATION TO BE CLEARED
002156 005026 CLR (R6)+ : :CLERR MEMORY LOCATION
002160 022706 001443 CMP SR, RE ; ; DONE?
002164 001374 BNE e : :LOOP BACK IF NO
002166 012706 001100 MOV 88STACK , SP . sSETUP THE STRCK POINTER
: INITIARLIZE R FEW VECTORS
002172 012737 016162 000029 MOV 8$SCOPE, 98 10TVEC ;; 10T VECTOR FOR SCOPE ROUTINE
ol oiery Qlei%e RS MOV 8390, 9810TVEC+S ; LEVEL 7
mmaaw giarmv 014052 mmooao ngz $SERAOR asenc!sc ;-E%ngcmn FOR ERROR ROUTINE
002222 012737 gl:ssm:” 000034 MOV 37% srmpvec’fgmp VECTOR FOR TRAP CALLS
B0 Moy Mwoxox N “&aw“smm’ FLLRE VECTR
002294 012737 000340 000026 MOV $340, 98PHRVEC+ ;E%EVEL ?
200 002952 00S067 17723 CLR STIMES :  INITIARLIZE NUMBER OF ITERATIONS
201 002256 005067 177232 CLR SESCAPE : :CLEAR THE ESCAPE ON ERROR ARDDRESS
202 002260 112767 000001 177125 MOVB 81, SERMRX * P ALLOW PER TEST
1203 002270 012767 002270 177110 MOV .. 8L t ' INITIALIJE THE LOOP ADDRESS FOR SCOPE
1204 002276 012767 002276 177104 MOV s, SU ! SETUP ERROR LOOP RDORESS
1205 .:SIZE FOR A HARDWARE SWITCH REGISTER. IF NOT FOUND OR IT IS
1206 *IEQUAL TO A ™-1%, SETUP FOR A SOFTWARE SWITCH REGISTER.
1207 002304 01374 DODOOM MOV SBERRVEC, -(SP) ;;SAVE Lsmon VECTOR
1208 002310 012737 002344 00000 MOV 854S, JSERRVEC :SET UP ERROR VECTOR
1209 002316 012767 177570 177114 MOV P SWR :1SETUP FOR A HARDMARE SWICH REGISTER
1210 002324 012767 177570 177110 MOV $D0ISP,DISPLAY ;:RND A HARDWARE DISPLAY REGISTER
1211 002332 022777 177777 177100 CMP 8-1,3SkR : 1 TRY TO REFERENCE HARDWARE SWR
1212 002340 001012 BNE B6S : :BRANCH IF NO TIMEOUT TRAP OCCURRED
1213 :IAND THE MARDWARE SWR IS NOT = -1
1214 002342 000M03 BR 65$ : 'BRANCH IF NO TIMEOUT
1215 0023™4 012716 002352 G4S: MOV 8658, (SP) :'GET UP FOR TRAP RETURN
1216 002350 000002 RTI
1817 002 81 7 176 177060 658: MOV 8SWREG, SWR : sPOINT TO SOFTWARE SWR
1218 002360 012767 174 177054 MOV 8D ISPREG, DISPLAY
i%ég 002366 012637 000OM B6S: MOV (SP)+, 98ERRVEC ; ;RESTORE ERROR VECTOR
1221 002372 00S067 177136 CLR $PASS : sCLEAR PASS COUNT
1222 002376 132767 000200 177143 BITB  $APTSIZE,SENVM ::TEST USER SIZE UNDER APT
1223 00240M 001403 BEQ 67S ! :YES, USE NON-APT SWITCH
ig mzq% 12767 001550 177024 - MOV 8SSWREG, SWR :INO, SE APT SWITCH REGISTER
1226 002414 012706 001100 MOV $STACK, SP :SET STRCK
1227 002420 106427 000340 MTPS 8340 :LOCK INTERRUPTS
1228 002424 012737 014654 000024 MOV 8.PFAIL, 824 !SET UP POWER FAIL VECTOR
1229 002432 105067 176535 CLRB  STFLG !CLEAR START FLAG
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1230 002436 005067
1231 002442 105067
1232 002446 00S06?
1233 002452 005067
1234 002456 012767
1235 002464 012767

1237 002472 013746
1238 002476 3746
002S0e

1240 002510 00S777
i4l 002S14 000407
242 D02S16 012767

1246 002S40 012637
1247 0025 7
le48 002552 1007
1249 002SSH

1257 002610 105767
1258 002614 001410
1259 00t 5 030767
1260 00264 001062
1261 002626 105067
1262 002632 (000167
1263 00263% 032777
1264 0026¥4 001002
1265 002646 000167
1266 002652 012700
1267 002656 012701
1268 002662 012702
1269 002666 010110
1270 00670 00501 |

3
g
n
:

1272 002674 060201
1273 002676 022701
1274 002702 002771
1275 002704 104406
1276 002706 015062
1277 002710 104410
1278 002712 160000
1279 002714 167776
1280 002716 O

1e8l

1282 002721

3R

e
E’§E e
22288

176450

0001
152

000006

000004
002516
176724

000176
000174

0GO00u
000006
000176
000042
000S22
010046
176374
015014
176362
176732
000001
176321
000452
000001
000436
000300

002302
000004

001000

014046
013706
176216

176726

176574

176226
176212

Pt pn
K
e o

10:06 PRGE 3l
INITIARLIZE THE COMMON TRGS

CLR

CLRB

CLR
CLR
MOV
MOV

CO3

PASCNT s CLERR PASS COUNT

SERFLG : CLEAR ERROR FLAG

SERTTL : CLEARR ERROR COUNT

SERRPC :CLEARR LAST ERROR POINTER

81, STSTNM :SET UP FOR TEST I

8. STRRT, RETURN :SET UP FOR POWER FRIL BEFORE
s TESTING STARTS

316, -(SP)

L

]

ISR

28

SSHREG, SWR

$DISPREG, DISPLAY

(SP)+, (SP)+

(SP)+. 384

(SP)+ 386

5§unsb,sun

a2 :CHECK FOR CHAIN

338

BEE N TL

5R%EL0 -HAS INITIALIZATION BEEN PERFORMED

MTITLE :TYPE TITLE MESSAGE

INIFLG *IF NOT SET FLAG AND DO

SENV : APT CONTROL?

118 'BR_IF NO

81, SUSKR 'EXTENAL JUMPER ON?

12$ *NO

JMRBY :CLFOR FLAG

.BEGIN 160 00 17

:guoo,asun tRESELECT VECTOR 8 CONTROL REG?

.BEGIN
Ogsg,RU ;RESTORE VECTOR ARER TO TRAPCARTCHER
8302,R1 ;START AT LOCATION 300

",
R1' (RO

(RD)

Re, RO

Re Rl

séboo,nx -END AT LOCATION 776
OUTPUT MESSAGE 8 GET INPUT STRING

s MESSAGE

: CONVERT STRING

‘LOW LIMIT

HIGH LIMIT

:STORE AT THIS LOCATION

: MASK
0K DAY TINES + 2 e
DUADDR '

PC
KEEPADD, BASEADD ;RESTORE FOR ROTATION

SEQ 0028
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1286
1287
288

=
i
129

h¥d

SHEdiaY ZEohsianincts BB VVensanane

P

BRYRREERERE

Pt Bt Pt Bt ot ot Pt Pt Pt Pt A Pt ot s Pt Pt Pt it Pt Pt Pt Pt et Pt Pt (st Pt Pt Bk Bt Pt Pt Pt P Pt Pk P Pt Bt Pt P P
A Rt
g Dot Pt it et e e s Pt Pt Pt
Lol = OO WO LWU—0O

SERIRRIBR

fisie
FRE

0031
00311
003112

003120
126
13

003136

003144

183
003152
003154

003158

13-APR-77 10:06 PAGE 32
12-0CT-76 10:29
104406 INSTR
015047 MVECTO
104410 PRRAN
000300 ;oo
B% ORIV
001 .BYTE |
93“ .BYTE ¥
016767 176752 176176 MOV
016767 176744 176166 MOV
6 INSTR
Esxi? UL T
109414 SETFLG
001152 MULTD
105767 176142 1578
100406 BMI
D0S067 176150 CLR
00S067 176146 CLR
000167 000140 - NP
104406 INSTR
015141 M_RSTD
108410 PARAM
160000 160000
167776 167776
001160 LASTADD
001 .BYTE 1
001 "BYTE
012767 000001 176116 1S
00S067 176110 CLR
767 176106 176102 28: BIS
; cLe
167 176076 ROL
103421 BCS
062767 000010 176052 RDD
767 176062 176044 CMP
101362 BHI
056767 176052 176046 BIS
012767 000001 176042 4S: MOV
0157?: 176024 176020 ESV
016767 176014 176010 3§: MOV
108406 INSTR
0}5235 MRANGE
104410 PARAM
160000 160000
167776 167776
001 LASTADD
1 BYTE |
001 JBYTE 1
000167 177656 ImP
012767 0003490 013442 OQUTMUL: MOV

DO3

INITIARLIZE THE COMMON TRGS

; OUTPUT MESSAGE 3 GET INPUT STRING
MESSAGE

: CONVERT STRING
:LOW LIMIT

§g¥32£L£?I}Hxs LOCATION
; MASK

ému MANY TIMES +
IV, KEEPIV  ;SAVE
DURIV'BASEIV  :SET UP FOR ROTATION

: MESSAGE 8 GET INPUT STRING
]

;§sr FLAG BASED UPON INPUT STRING

: THIS FLRG

RULTD ;ARE THERE MULTIPLE DEVICES
:ON THE SYSTEM °

888 *YES,RSK NEXT QUESTION

ACTREG

ROTROD

OUTMUL ;JUMP AROUND NEXT QUESTION

;OUTPUT MESSAGE 8 GET INPUT STRING

555§3§3§ STRING
:LOW LIMIT

“HIGH LIMIT
;STORE AT THIS LOCATION
SHOM MANY TIMES +

1 2
- THE FOLLOWING ROUT TS UP RCTREG FOR THE FIRST TIME
: MOV 8l 335935 : R§ UP POINTER

SE
ACIREG :CLR ACTIVE REGISTER
ROTROD,ALTREG  ;MAKE THIS DEVICE RCTIVE

ROTRDD :SET UP POINTER

38 'ARE YOU OUT OF RANGE ?

810,BRSEADD :SET UP BASE RDDRESS

LAStADD, BQSEADD -Igczuxs THE LAST DEVICE ?

28 -NO DO It AGAIN

R0TADD,ALTREG  : THIS RSSUMES THAT THERE ARE AT

;LEH?T THO ocvxctg ufgn YOU ANSKER YES T0 ,
'MULTIPLE DEVICE BUESTION

&1.ROTARDD :SET UP FOR LATER USE IN END OF PRSS ROUTINE
rzgpnoo,ansznoo :DITT0

OUTMUL ' :CONTINUE QUESTIONS

KEEPADD, BASERDD ; RESTORE

;ourgggensssncs § GET INPUT STRING

s MES

s CONVERT STRING

;LOW LIMIT

sHIGH LIMIT

:STORE AT THIS LOCATION
s BASK

‘HOW MANY TIMES + 2
] .00 IT AGRIN
340, DUPART

SEG 0C29




' DZDUR-R MACYIl 27(1006) 19-RPR-77 10:06 PAGE 33
DZDURA.M11 18-0CT-76 10:29 INITIRLIZE THE COMMON TAGS SEG 0030

{;:g 003174 D767 013366 gOHPfREWMERST CHARACTER IN THE TELETYPE INPUT

iBUFFER TO THE CHARACTERS "1™ AND "e".

139 HE JHE CHRRCTER 13 T1C (bgeR THE, FLAG

7,

13N ARA:
1398 104406 INSTR  ;OUTPUT MESSAGE & GET INPUT STRING

1 ?éﬁ"ﬁ? MSYNC  :MES E .

1 787 000061 012602 3§: cMPB b I, 1S IT *1" ?

1351 001003 BNE 18

1§ 7 17572% CLRB  SYNCNO ;000

1 12 _ BR s .

1354 122767 000062 012584 1S: CMPB  #'2, INSUF IS IT w2 2

1355 001004 BNE 2s

135h 112767 177777 175706 MOVB  #-1,SYNCNO :377

1367 000402 BR 4§

1358 104407 2s: INSTER :RETRY

1359 000757 BR 38

137 T o MESSAGE & GET INPUT STRING
wé 61 1 MIRED %ngcs

{ﬁ mm; ss;;LcT; %T FIF:FLJG BASED UPON INPUT STRING
1365 2 ggﬂm ﬁsr& *EUT %ssncs 8 GET INPUT STRING
1366 . 15572 MUIRES rcssncs

1367 00326N J04414 SETFLG ;SET FLAG BRSED UPON INPUT STRING
1368 003266 001150 SEREC  ; THIS FLRG

1369 003270 104406 INSTR  ;QUTPUT MESSAGE & GET INPUT STRING
1370 003272 015642 MWIREY ; MESSAGE

1371 003274 104414 SETFLG ;;sr r%nc BASED UPON INPUT STRING
1372 003276 001151 OPTCLR ;THIS FLAG

1373 003300 104406 INSTR  ;OUTPUT MESSAGE 8 GET INPUT STRING
1374 003302 015721 MEXTJ  : MESSAGE

1375 003304 104414 SETFLG :SET FLAG BASED UPON INPUT STRING
igg 003306 001153 INRBY  ;THIS FLAG

{% : TEST START AND RESTART

1380 003310 0312706 001100 .BEGIN: MOV 8STACK, SP :SET UP STACK
1381 0033i14 106427 000340 MTPS 8340 :LOCK OUT INTERRUPTS
1382 003320 032777 000002 176112 BIT 8SW01 , 3SWR :IF SWOI1=1, GET STARTING PC
1383 003326 001406 BEQ S

1384 003330 104406 INSTR  ;OUTPUT MESSAGE & GET INPUT STRING
1385 003332 015405 MTSTPC ;MESSAGE

1386 0033 104410 PARAM  ; CONVERT STRING

1387 00333 003362 TSTL  ;LOW LIMIT

1388 :HIGH LIMIT

1389 STORE AT THIS LOCATION

1390 003340 001 .BYTE | - MASK

1391 00334} 001 .BYTE 1 "HOW MANY TIMES + 2

1392 00332 000403 BR 4s

1393 003344 012767 003362 175532 3§: MOV 87ST1,RETURN smnr AT TEST |
1394 003352 104401 015401 4s: TYPE MR TYPE R

133356 000177 175522 P JRETURN smm TESTING
1397

;s THIS TEST VERIFYS WORD LENGTH SELECY OF THE




' DZDUR-R MACYLl 27(1006)

DZDURA.M11

! 1398
1399
1400
140!
1802
1403
1404
140S
1406
1407
1408
1409
1410
1411
1412
1413
1M414
1415
1416
1417

003362
003364
003372
003400

003406

003414
003422

003430
003436

e

r—gv—
L0

2B

003532
0C03s40
003546

003552
003560
003566
003572
003576

12-0C7-76 1J:29

000400
0S2777 0OOM00

012777 064001

004767 013266
05777 176176

17701 176172

012767 000007
012767 000176
004767 013224

012767 000007
012767 000176
004767 013204
012700 140037

017701 176114

19-APR-77

176334
176322
176320

178312
176300

176262

176270
176262

176254
176246

178754

175362
175732

175342
175712

FO3

INITIARLIZE THE COMMON TAGS

+ RECEIVER SECTION,IT USES THE ERROR FLAGS
: 170 DETERMINE THAY IT WAS SELECTED CORRECTLY
,mew %MJ
StMO
,.LERETH :FIVE
HAR: 37

!!!!lliilllll!l!l!lllll!l!!i!llll!ll!!!llll!!l!*li*ll!il!il!lli
Ty gcgpe
SMRESET,3TXCSR ;MASTER RESET
MOV 8ISYMOD @PARCSR ;SET THE MODE
BIS SMRESET,JTXCSR ;MASTER RESET

:SET MAINT DATA, CLK, BREAK, SMAINTENANCE MODE
MoV sMTORTA!CLK!MINT!BREAK, 3TXCSR

:SET noogo " OF B}TS PRRETY ;ﬁggshgboggqsvgg REG
POKE CLK ¥"5221 RECERVEﬂSiNTS SYNEEOIZQTION

éxc 8CLK, § ggg g g;. 33“"
: POKE CLK ?o GET Lbci INTO svnchonx ON
BIC #CLK, JTXCSR : POKE CLK DOKN

10:06 PAGE 3

8IS OCLK arxcsa ;POKE CLK UP

MOV *SET UP FOR ERROR MESSAGE
MOV sar RO EXPEC

ngv ’gu ?F gnrrrs

MOV 8l THPI on

JSR PC, RPOKE *SHIFT IN THIS CHAR

gg}e achsn s RXDONE *

ERROR u . RXDONE SHOULD BE SET
MOV JRXDBUF , R -RCTUAL
EES Ruqnl . COMPARE ' EXPECTED VS. ACTUAL
ERROR 2 :RECEIVED DATA DID NOT MATCH
EXPECTED DATA - CHECK MAINT DATA
OR RECEIVER LOGIC

MOV ¥7 SHIFT’ .8 OF SHIFTS

MOV sx?s STMPI :DATR CHAR

JSR C. RPOKE 'SHIFT IN THIS CHAR
:NOW SHIFT IN A ssbouo cunnncrsn WITHOUT RERDING RXDBUF

MOV 87 SHIFT 8 OF SHIFTS

MOV 8176, $THP1 onTn CHAR

JSR PC, RPOKE 'SHIFT IN THIS CHAR

MOV 1140000'3? RO expecreo DATR PLUS

RXEPR OVRRUN
MOV JRXDBUF ,R1 s ACTUAL
CHP ROQRI ; COMPARE 'EXP VS. ACT

BEQ .+
ERROR 2 ; SPECIFICALLY LOOK AT RXERR &
:OVRRUN BITS...THEY BOTH SHOULD BE SET

,,THIS TEST VERIFYS WORD LENGTH SELECT OF THE
sRECEIVER SECTION,IT USES THE ERROR FLRGS

SEQ 0031
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1454
B
8
1458
1459
140
1461
1462
1463
1464
1465
1466
1467
1468
1469
1470
14971
1472
1473
I8N
1475
1478
1477
1478
1479
1480
1481
1482
1483
1484
1485
1486
1487
1488
1489
1490
14391
1492
1493
1494
1495
149%
1497
1498
1499

120)
1502
1803

1504
1505
1506
15807
1508
1509

003634

003642

12-0CT-78

— E—————

GO3

19-RPR-77 10:06 PRGE 35

10:29

0004 176106
0000 176074
000400 176072

064001 17&064
000000 176052

000020 176034

020000 176042
020000 176034

020000 176026
020000 176020

175176
175546

000007 175134
020100 175504
012776

000007 175114
000100 175464
012756
140000

175666

INITIARLIZE THE COMMON TARGS

;70O DETERMINE THAT 1T WARS SELECTED CORRECTLY
s 3 (OVRRUN, RXERR)
HH : IS0
HH tH:FT
: ;CHAR: D
o R R R R RE RPN E R R R RS RE R R R A RS
tSt2:  ScoPe

BIS SMRESET, §TXCSR ;Hﬂ?T;R RESET

MOV $ISYMOD, PRRCSR ;SET THE MODE

BIS SMRESET,JdTXCSR ;MASTER RESET

:SET MRINT DATA,CLK,BREAK, SMAINTENANCE MODE
MOV sMTORTA! CLK!'MINTYBREAK, 3TXCSR

;SET MODE ,# OF BITS,PARITY SENSE, 8LOAD SYNC REG

MOV 81SYHOO! FIVE INOPRA! 0, 9PARC
BIS oévnscu aaxssa : ? gvnc Egnacn
-POKE CLK TO GEY RECEIVER INTO SYNCROIZATION....
B1C #CLK, JTXCSR ;POKE CLK DOWN
8IS #CLK TXCSR 'POKE CLK UP
:POKE CLK TO GET Eoctg Iugg svnchgﬂxéarxon
BIC sCLK, JTXC - POKE CLK DOWN
BIS 8CLK, TXCSR : POKE CLK UP
MOV RXDBUF , R3 'SET UP FOR ERROR MESSAGE
MOV 80, RO ' ;EXPECTED
MOV 87 SHIFT .4 OF SHIFTS
MOV 8100, §TMP!L ' DATA

CHAR
JSR PC, RPOKE SHIFT IN THIS CHAR
7518 ag&csn :RXDONE }

BN]
ERROR Y - RXDONE snogLo BE SET
MOV JRXDBUF , R1 = AC TUAL

CMP quRl : COMPARE ' EXPECTED VvS. ACTUAL

BEQ .

ERROR @ :RECEIVED DATA DID NOT MATCH
;EXPECTED DATR - CHECK MRINT DATR

;OR RECEIVER LOGIC

MOV 87 SHIFT .8 OF SHIFTS

MOV 100, 8THPL :DATA CHAR

JSR PC , RPOKE :SHIFT IN THIS CHAR
-NOW SHIFT IN A SECOND CHARRACTER'WITHOUT READING RXDBUF

MOV 87, SHIFT .8 OF SHIFTS

MOV nébgpsrnpx :DATA_CHAR

JSR PC, RPOKE 'SHIFT IN THIS CHAR

MOV #140000'0,R0  ;EXPECTED DATR PLUS

;RX;RR 3 OVRRUN
MOV dRXDBUF Rl ;RCTUAL
CMP quﬂl ; COMPARE EXP VS. RCT

BEQ .
ERROR 2 ;SPECIFICALLY LOOK AT RXERR &
sOVRRUN BITS...THEY BOTH SHOULD BE SET

; s THIS TEST VER%FYS WORD LENGTH SELECT OF THE
: ;RECEIVER SECTION,IT USES THE ERROR FLAGS
;; TO DETERMINE THAt 1T WAS SELECTED CORRECTLY

]

SEQ 0032
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175660
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175614
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175600
1758572

174750
175320

174706
175256

174666
175236
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INITIALIZE THE COMMON TRGS

; s (OVRRUN, RXERR)
: $ MODE : 1S¥MOD
s sLENGTH:SIX
; ; CHAR:
e R IR NN RN R R E R AR R R EF
¥513:  scope

BIS SMRESET, 9TXCSR  ;MASTER RESET

MOV k] 'OPRRCSR ;SET THE MODE

BIS .nEEEE?,Sﬁxc 'MASTER RESET
:SET MAINT DATA,CLK,BREAK, SMAINTENANCE MODE

MOV sNTDATA!CLKYMINTIBREAK, 9TXCSR

:SET MODE ,8 OF BITS,PARITY SENSE, 8LORD SYNC REG
MOV $1SYROO! SIX! NOPAR! 0, PARCSR

BIS &S MXCSR  :SEY SYNC SEARCH
. POKE CLK ¥gsgg1 RECE?VEhsinrg SYNCROIZATION. ...
81C $CLK, QTXCSR sPOKE CLK DOWN

BIS 8CLK . 9TXCSR :POKE CLK UP
:POKE CLK TO GET.%oct xngs SYNCRONIZATION
BIC LK, 9TXC -POKE CLK DOWN

BIS 8CLK, 9TXCSR :POKE CLK UP
ngv RSEBQE'R3 !SET UP FOR ERROR MESSAGE
MOV 825, R0’ S EXPECTED

MOV 88 sHIFt .4 OF SHIFTS

MOV ' 3;np1 ;ERTR CHAR

JSR P E !SHIFT IN THIS CHAR
TSTB  SRXCSR ;RXDONE *

BMI .44

ERROR

q - RXDONE SHOULD BE SET
MOV SRXDBUF , R1 - ACTUAL
cHP R94R1 . COMPRRE ' EXPECTED VS. ACTUAL

BEQ .
ERROR ¢ ;RECEIVED DATR DID NOT MATCH
;EXPECTED DRTR - CHECK MAINT DATR

:OR RECEIVER LOGIC
MOV #8. ,SHIF} : 8 OF SHIFTS
MOV 8252, STMPL :DATA CHAR
J;R PC. RPOKE 'SHIFT IN THIS CHAR
:NOW SHIFT IN A SELOND CHARACTER'WITHOUT RERDING RXDBUF
MOV 88.  SHIFT .8 OF SHIFTS
MOV 8262, STMPI :DATA CHAR
JSR PC, RPOKE :SHIFT IN THIS CHAR

MOV #140000'25,R0  ;EXPECTED DATA PLUS
*RXERR 8 OVRRUN
MOV JRXDBUF ,R]

sACTUAL
ggg qunx : COMPARE 'EXP VS. RCT
ERROR 2 :SPECIFICALLY LOOK AT RXERR 3
:OVRRUN BITS...THEY BOTH SHOULD BE SET

;s THIS TEST VERIFYS WORD LENGTH SELECT OF THE
' 'RECEIVER SECTION,IT USES THE ERROR FLAGS
t170 DETERMINE THAY IT WAS SELECTED CORRECTLY
: + (OVRRUN, RXERR)

—— s e

SEQ 0033
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012777 000000
0S2777 000400

012777 084001

012777 002000

1§
:

S
T

012364
175274

3

175270

?o—
gs8d

012767 000010
004767 012322
0i2767 000010

004767 012302
012700 140052

017701 175212
02000

- —— e —— -

19-APR-77

175432
175420
175416

175410
175376

175360

175366
175369

175352
175344

174522
175072

174460
175030

174440
175010

103

INITIARLIZE THE COMMON TRGS

s s MODE : ISYMOD
;;LENGTEéSIX

10:06 PRGE 37

. .
' *

o R RN R R R R R IR A SRR R IR REES
¥St4:  scoee

BIS SMRESET,JTXCSR  ;MASTER RESET

MOV #1SYMOD, 9PARCSR ;SET THE MODE

8IS SMRESET,dTXCSR  ;MASTER RESET

:SET MAINT DATR,CLK, BREAK, SMAINTENANCE MODE
MOV sMTOATAR! CLK'MINT ! BREAK , 3TXCSR

:SET MODE , 8 OF BITS,PARITY SENSE,8LORD SYNC REG
Mot #1SYMOD! SIX! NOPAR! O, 9PARCSR
BIS 8SYNSCH. JRXCSR ;SEY SYNC SEARCH

. POKE CLK T0 gﬁf RECEIVER 5§TO SYNCROIZATION. ...
8CLK, 9TXCSR . POKE CLK DOWN

B1C :
BIS 8CLK  9TXCSR : POKE CLK UP
-POKE CLK TO GET LOGIC INTO SYNCRONIZRTION
BIC eCLK , 9TXCSR : POKE CLK DOWN
BIS 8CLK  9TXCSR : POKE CLK UP
MOV nxoeﬂg,na :GET UP FOR ERROR MESSAGE
MOV 852 RO’ EXPECTED
MOV 88, SHIF} :8 OF SHIFTS
MOV 8324 STMPI :DATA CHAR
JSR PC E 'SHIFT IN THIS CHAR
gg}s ag&csa s RXDONE #
ERROR 4 . RXDONE SHOULD BE SET
MO IRXDBUF , R1 - ACTUAL
ggz Roqu : COMPRRE "EXPECTED VS. ACTUAL
R g
ERRGR 2 :RECEIVED DATA DID NOT MATCH
'EXPECTED DATR - CHECK MAINT DATA
:0R RECEIVER LOGIC
MOV #8.,SHIFt .8 OF SHIFTS
MOV 8324 5irFi :DATA CHAR
JSR Pr . RPOKE "SHIFT IN THIS CHAR
:NOW SHIFT IN A SELOND CHARACTER WITHOUT READING RXDBUF
MOV 8. SHIFT 8§ OF SHIFTS
MOV 8324, STMPI :DATA CHAR
ISR PC, RPOKE SHIFT IN THIS CHAR

MOV #140000752,R0  :EXPECTED DATA PLUS

'RXERR § OVRRUN
MOV JRXDBUF , Rl : ACTUAL
SES qunx : COMPARE 'EXP VS. ACT
ERROR 2 :SPECIFICALLY LOOK AT RXERR 8
OVRRUN BITS...THEY BOTH SHOULD BE SET

;s THIS TEST VERIFYS WORD LENGTH SELECT OF THE
: 'RECEIVER SECTION,IT USES THE ERROR FLAGS

: 170 DETERMINE THARY IT WAS SELECTED CORRECTLY
; 7 COVRRUN, RXERR)

: ' MODE : 1SYMOD

SEG 0034
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174232
174602

174212
17456¢

JO3

INITIALIZE THE COMMON TAGS
..LENGTH SIX
;CHAR: 77

?§¥ll!ilééllll’!l!lllli!lli“illllllllI’!li!!l!!l!ili*lllli!lll‘llli
S: OPt

10:06 PRGE 38

BIS OMRESET, 3TXCSR  ;MASTER RESET
MOV 8ISYMOD, SPARCSR :SET THE MOOE
B1S BMRESET,JTXCSR :MASTER RESET
:GET MAINT DATA,CLK,B” CAK, SMAINTENANCE MODE
MOV eMTDATA!CLK'MINT!BREAK, aTXCSR
:SET MODE ,8 OF BITS,PARITY SENSE &LOAD SYNC REG
Mo uxsvhoo'sxx-nopna'o SPARCSR
BIS 3
- POKE CLK T0 vsA sv znr:on
B1¢ 8CLK,
BIS 8CLK 3 CLK uP
: POKE CLKIEO GET Locic INTO svnchonxzngﬁgu
BIS ICLK TX 14 CLK UP
MOV R;gegg na sar UP FOR ERROR MESSAGE
ngv
MOV s OF SHIFTS
MOV aaré srnpx :DATA CHAR
JSR C, RPOKE 'SHIFT IN THIS CHAR
éa{s ankcsa :RXOONE *
ERROR q - RXDONE SHOULD BE SET
MOV anxoeur Al ACTUAL
SEE +4 - COMPRRE ' EXPECTED VS. ACTUAL
ERROR 2 :RECEIVED DATA DID NOT MATCH
'EXPECTED DATA - CHECK MAINT DATA
OR RECEIVER LOGIC
MOV :8, SHIF? +8 OF SHIFTS
MOV 8376, TP DATA CHAR
JSR PC , RPOKE 'GHIFT {n THIS CHAR
:NOW SHIFT IN A SECOND CHARACTER'WITHOUY READING RXDBUF
MOV 8. SHIFT :8 OF SHIFTS
MOV s376 $STMPI :DATA_CHAR
JSR C, RPOKE :SHIFT IN THIS CHAR
MOV 0140000!77 RO ;EXPECTED DATAR PLUS
'RXERR 8 OVRRUN
MOV JRXDBUF ,R] ' ACTUAL
ggg Roqﬂl : COMPARE 'EXP VS. RCT
i
ERROR 2 IFICALLY LOOK AT RXERR 3
8555 Snﬁg ?HEY BOTH SHOULD BE SET

+ s THIS TEST VERIFYS gosg LENGTH SELECT OF THE
58y§£ﬁ§§n?§§ﬂ§327117 SELE ngﬂcohngéer

MODE : xs{moo
.,LENGTH SIX

——— e ey

SEG 0035
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DZDURR.M11 12-0CT-76 10:29 INITIRLIZE THE COMMON TARGS SEG 0C3¢&
igg ,,CHRR 0
1680 iiiu!ihuun“"unuunuinuuuiuuuluuuuuuui
1681 ggarwo 000004 t&Te:  SCOPE
1682 % 05%777 000M00 174756 IS SMRESEY,JTXCSR ;MASTER RESET
1683 009 012777 000000 174744 MOV oISYHOU RRCSR SET THE MODE
i@ 00M7S6 0S2777 000400 174742 BIS »RESET aTXCSR HRSTER RESET
1 +SET MRINT DATA, CLK REQK SMAINTENANCE MODE
isaa 004764 012777 064001 17473M 1CLK'MINTTBREAK, aTXCSR
1 :SET HOOE OOFBTSPQRTY YNC REG
1% 004772 012777 002000 174722 } IX'm SLgFQRQE

062777 000020 174704 ers asvnscu MXCSR  :SEY SYNC ssnacu

00S000
1692 . POKE CLK T0 Rscexvsh xnro SYNCROIZATION. .
1693 DOSO0e 042777 020000 174712 81C 8CLK, 9TXCS POKE CLK DOWN
1694 00SO14 052777 020000 174704 BIS sCLK ' 9TXCSR :POKE CLK UP
1635 :POKE CLK TO GET LOGYC INTO SYNCRONIZATION
b% S aomommm oinw o B mOaER g e
1233 882832 16703 174654 MOV ,R3 'SET UP FOR ERROR MESSAGE
16 832335 81 MOV og RBH - EXPECT Eb
17 I 10 174046 MOV 8 OF SHIFTS
1708 DE0es Doirey Do L7 Tok 3€°9¢8l? ! 23I?T°’fﬂ“ms CHAR
1703 005066 105;97 174620 1578 aﬂﬁcsa : RXOONE )
1704 005072 100401 BMI
1705 00S074 104004 ERROR . RXDONE SHOULD BE SET
1706 00S076 017701 174614 MOV anxoaur Rl
1707 005102 020001 CMP RO,R1 ' ;COMPARE EXPECTED VS. RCTUAL
1708 00SI104 0014G1 BEQ .+
1709 00S106 104002 ERROR 2 : RECEIVED DATA DID NOT MATCH
1710 :EXPECTED JATR - CHECK MAINT DATA
1711 ;0R RECEIVER LOGIC
1712 00S110 012767 000010 174004 MOV 88. SHIF} 8 OF SHIFTS
1713 00S116 012767 000200 174354 MOV 8200 $ TP onrn CHAR
1714 DOS124 004767 011646 JSR PC, ROOKE :SHIFT IN THIS CHAR
171s :NOW ShIFT IN R setono cunnncrea WITHOUT READING RXDBUF
1716 DOS130 012767 000010 17376M MOV 6. SHIFT or su:r S
1717 00513 012767 000200 174334 Mov 200, $TMPI
17:8 DOSINY 004767 011626 ISR PC R#OKE sgg; n THIS CHAR
1719 005150 012700 140000 MOV #140000'0,R0 CTED DRTA PLUS
i;gn 1 7701 174536 MOV BUF, i RXERR & OVRRUN
17 833123 1 CMP SS 3 éonpnas EXPUgg ACT
1723 00Sibe 001401 BEQ
1724 005164 104002 ERROR a :SPECIFICALLY LOOK AT RXERR &
i;gg ' OVRRUN BITS...THEY BOTH SHOULD BE SET
1727 . s THIS TEST VERIFYS WORD LENGTH SELECT OF THE
1728 : 'RECEIVER SECTION,IT USES THE ERROR FLAGS
1725 t170 DETERMINE THAY IT WAS SELECTED CORRECTLY
1730 : (OVRRUN, RXERR)
173; : 1 MODE : 1SYMOD
1732 : 'LENGTH: SEVEN

1733 ,,CHQR 125

- ——— e— ve— -
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123
176
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00S314

006
12-0CT-7

CO000N
052777
018777
052777

012777

)
]

LO3

19-APR-77 10:06 PAGE 40

10:29

INITIARLIZE THE COMMON TRGS

. I*!l!!iillli!lillillllllIllllllllil!liillllll!!!il!llll!llllill

t&r7:  score ,
174530 BIS SMRESET, 3TXCSR  ;MASTER RESET
174516 MOV 8ISYMOD, 9PARCSR :SET THE MODE
174514 BIS SMRESET ATXCSR :MASTER RESET
:SET MAINT DATA,CLK,BREAK ann}ursunncs N
174506 MOV sMTOATA! CLK ! MINTBREAK, aTXCSR
:SET MODE ,® OF BITS,PARITY SENSE, 8LORD SYNC REG
174474 Mo $I1SYMOD! SEVEN! NOPAR! D, 9PRRCSR
174456 8IS 8SYNSCH_ 3RXCSR  :SET SYNC SEARCH
. POKE CLK TO GEY RECEIVER INTO SYNCROIZATION....
174464 g{c 8CLK, Txggs ;POKE ELK DOWN
174456 S LK’ 9T 'POKE CLK
:POKE CLK TO GET LOGIC INTO SYNCRONIZATION
1 ™1450 BIC $CLK, 3TXCSR sPOKE CLK DOWN
174442 BIS 8CLK’ 9TXCSR :POKE CLK UP
MOV RXDB{IF, R3 :GET UP FOR ERROR MESSAGE
MOV 8125 RO EXPECTED
173620 MOV 89, SHIF :8 OF SHIFTS
174170 MOV 8652, STHPL :DATA CHAR
JSR PC, RPOKE !SHIFT IN THIS CHAR
gﬁ}a ag&csa :RXDONE }
ERROR 4 . RXDONE SHOULD BE SET
MOV JRXDBUF , A1 : ACTUAL
ggg qun1 . COMPRRE ' EXPECTED VS. ACTUAL
ERROR 2 :RECEIVED DATA DID NOT MATCH
*EXPECTED DATR - CHECK MAINT DATA
:0R RECEIVER LOGIC
173556 MOV #9.,SHIF} .8 OF SHIFTS
174126 MOV 8652, STNPI :DATA CHAR
JSR PC , RPOKE ;SH$§5U4N THIS CHAR
:NOW SHIFT IN R SELOND CHARACTER'i: RERDING RXDBUF
173536 MOV 89. SHIFT ;8 OF SHIFTS
174106 MOV 8652 STMP1 :DATA_CHAR
JSR RPOKE :SHIFT IN THIS CHAR

PC
MOV #1400007125,R0 ;EXPECTED DATA PLUS
"RXERR & OVRRUN

MOV JRXDBUF ,R1 sRCTUAL
ggz quRl ; COMPARE EXP VS. RCT
ERROR 2 ;SPECIFICALLY LOOK AT RXERR &

; OVRRUN BITS...THEY BOTH SHOULD BE SET

s+ THIS TEST VERIFYS WORD LENGTH SELECT OF THE
: 'RECEIVER SECTION,IT USES THE ERROR FLAGS
2170 DETERMINE THAt IT WAS SELECTED CORRECTLY
; 7 (OVRRUN, RXERR)

: 'MGDE : 1SYMOD

; ; LENGTH: SEVEN

: :CHAR: 52

St@ 0037
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005414
00S416
DOSH2M
005432

00S440
DOSH46

005454

00S462
005470

00S47%
BOSH0M
00sS1e2
D0S516
005522

00E2%

DOSS4e
D0SS46
00SSS0
005552
DOS536
D0S560
005562

pCeer

00S&640

12-0CT-76 10:29

000004 Y4T10:  SCOPE
777 000400 174302 BIS
12727 000000 174270 MOV
052777 000400 174266 BIS

;SET MRINT DRTR CLK

012777 064001 174260 847 n'ctx-nxﬂr BRERK, 3
:SET MODE ,% OF esz PARITY SENSE,8LORD SYNC REG
012777 004000 174246 MOV 'gsvsn'nopha 0 apnagé
052777 000020 174230 BIS éh s% ARCH
- POKE CLK ro T RECEIVER INTO SYNCROIZATION..
Q42777 020000 174236 BIC RCLK, arxcsn POKE CLK ooun
052777 020000 174230 BIS sCLK JTXCSR E ?
:POKE CLK TO GET LGGIC INTO svnchonr ATION
042777 020000 174222 BIC #CLK, aTXCSR : POKE CLK ooun
052777 020000 174214 BIS #CLK  aTXCSR : POKE
016703 174200 MOV R-DBUF, R SET ron ERROR MESSAGE
012706 000052 MOV 852,R0’ EXPECTEO
012767 000011 173372 MOV 63 shIFt or suxrrs
864727 Booggu 173742 MOV oseﬁ STMPI on CHAR
7 011234 JSR RPOKE :SHIFT IN THIS CHAR
105777 174144 1578 ankcsn s RXDONE %
100401 BMI N
104004 ERROR Y : RXDONE SHOULD BE SET
017701 174140 MOV SRXDBUF , R - ACTUARL
620001 CMP RO,R1 ' ;COMPARE'EXPECTED VS. RCTUAL
001401 BEQ .+4
104002 ERROR 2 :RECEIVED DATA DID NOT MATCH
:EXPECTED DATA - CHECK MAINT DATA
: OR RECEIVER Lgﬁ}?
012767 0000:1 173330 MOV 19, sn:rt ?r
012767 000524 173700 MOV 8524 8T HPl :DATA CHAR
004767 011172 JSR PC,RPOK :SHIFT IN THIS CHAR
:NOW SHIFT IN A setono cunnncvcn uxmogH READING RXDBUF
012767 000011 173310 MOV SHIFT
012767 000S24 173660 MOV :se& STMP1 DRTR cunn
4767 0166&2 JSR gxg ‘GHTFT IN ru}a CHAR
127 140082 MOV ulﬁoa 0¥s2,R0 xPEcr D DATA PLUS
nxenn OVRRUN
017701 174062 MOV JRXDBUF , R} CTUAL
020001 CMP RO,R] conpnne EXP VS. ACT
001401 BEQ .+
104002 ERROR 2 SPECIFICALLY LOOK AT RXERR 3
:OVRRUN BITS...THEY BOTH SHOULD BE SET

MO3

INITIALIZE THE COMMON TRGS
© 3 I R R I I R R R AR AR

SMRESET,dTXCSR ;MASTER RESET
81SYMOD, 9PPRCSR 3SET THE MODE
SMRESET,dTXCSR ;MASTER RESET

£AK &HRINT NANCE H?QCSR

: s THIS TEST VERIFYS WORD LENGTH SELECT OF THE
Recsxvzn SECTION.IT USES THE ERROR FLRGS
TO DETERMINE THAY IT WARS SELECTED CORRECTLY
: (OVRRUN, RXERR)

noos ISYMOD

HA l*l!*l*‘ll**l*!l!lllllll!!ill*!Iill!lll!!lllll!li!lli!li!!lill!

,,LENGTH SEVEN
;CHAR: 177

SEG 0038

-
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11

776
1.006
173716

173712

oo

000011
000776

148157

173634

174054
174042
174040

174032
174020

174002

174010
174002

173774
173766

173144
173514

173488

173062
173432

NO3

INITIRLIZE THE COMMON TAGS

TSTi1: SCOPE
BIS SMRESET,TXCSR  ;MASTER RESET
MOV #1SYMOD, SPARCSR iSET THE MODE
BIS SMRESET, 3TXCSR :MRSTER RESET

;SET MAINT DATA, CLK BREAK, RUATNTENANCE MOOE

:SET MODE ,# OF BITS,PARITY SENSE,3LORD SYNC REG
MoV #1SYMOD! SEVEN! NOPAR! 0, 9PRRCSR
8IS $SYNSCH. SRXCSR  :SET SYNC SEARCH
POKE CLK TO GEY RECEIVER INTO SYNCROIZATION..

10:06 PAGE 42

élc ICLK JTXCSR : POKE CLK DOWN
§ h TXCSR Poxs ?&x uP
: POKE CLK 0 GET LOGIC INTO SYNCRONIZR
e e
|
n& bsﬂi RS 58¥ oH ERROR MESSRGE
MOV 01?7 - EXPECTED
MOV ;r? ?F SHIFTS
MOV ﬁ 3 gH CHAR
JSR POKE IFT IN THIS CHAR
gg}a aa&csn s RXDONC }
+
ERROR 4 .RXDONE SHOULD BE SET
MOV JRXDBUF ,R] s ACTUAL
ggz Roqa1 : COMPARE ' EXPECTED VS. ACTUAL
ERROR 2 RECEIVED DATA DID NOT MATCH

'EXFECTED DATA - CHECK MARINT DATA
OR RECEIVER LOGIC

0 i 5“%»:1 3% 2R

<SR :SHIFT IN THIS CHAR
;NOW SHIFT IN R SECOND CHQRRCTER HITHO&L R?RDING RXDBUF
MOV 89. ,SHIFT

MOV 0776 $TMPI

%85 3140080§177 RO Exé ETéB ¥3 SLus

szpa ovnnuu
MOV JRXDBUF , Rl uag
528 Roqn1 conpnas zxp ACT
ERROR 2 :SPECIFICALLY LOOK AT RXERR

3
‘OVRRUN BITS...THEY BOTH SHOULD BE SET

8 T I AN T e

,,TO ennxne Tunf 1T WAS SELECTED CORRECTLY

HO[
EENGTH SEVEN

uuu“uuouuuuuu.uiuuuununuuumumuuu

teri: scope

SEQ 0039

—
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052777
012777
052777

012777

012777
gsa77?

000004
052777

000400
000000
000400
064001

004000
000020

173470

173464

000011
000400
010S16
00001 1
000400
010476
140000

173406

000400

R-77 10:06 PAGE 43
INITIALIZE THE COMMON TAGS

173626
173614
173612

173604
173572

173554

173562
173554

173546
173540

1727165
173266

172654
173224

172634
173204

173400

BIS
MOV
BIS

;SET MAINT DATR,
MOV
:SET MODE ,s OF
MOV
BIS

BIC

BO4

SMRESET, 9TXCSR  ;MASTER RESET
#15YMOD, GPARCOR :SET THE MODE
$MRESET.QTXCSR :MASTER RESET

CLK, BRERK , SMAINTENANCE MODE
sNTOATA! CLK!MINTIBREAK, 3TXCSR

BITS,PARITY SENSE 3LORD SYNC REG
sxsvﬁooegsxggéuophneo SPARCSR
M SYNC SEARCH

SYNSCH -GET SYNC
:POKE CLK TO GET RECEIVER INTO SYNCROIZATION....

WCLK,dTXCSR  ;POKE CLK DOWN
sCLK JTXCSR  :PIAKE CLK UP

BIS
:POKE CLK 70 GET LOGIC INTO SYNCRCNIZATION
BIC #CLK, 9TXCSR

BIS
MOV
MOV
MOV
MoV
JSR
1STB

;NOW SHIFT IN R
MOV
MOV
JSR
MOV

MOV
CMP

BEQ
ERROR

’ ; POKE CLK DOWN
8CLK, dTXCSR ;POKE CLK UP

,R3 :GET UP FOR ERROR MESSAGE
80, R0 ' EXPECTED
39’ SHIF} .8 OF SHIFTS
8400, sT™P1 :DATA CHAR
PC, RPOKE *SHIFT IN THIS CHAR

aRXCSR  ;RXDONE }

.Y

g - RXDONE SHOULD BE SET

JRXDBUF , R1 s RCTUAL

ngqnx - COMPARE ' EXPECTED VS. ACTUAL

2 :RECEIVED DATA DID NOT MATCH
EXPECTED DATR - CHECK MAINT DATA
:0R RECEIVER LOGIC

#9. . SHIF -8 OF SHIFTS

8400, STHPI :DATA_CHAR

PC E :SHIFT IN THIS CHAR
SECOND CHARACTER' WITHOUT RERDING RXDBUF
89. SHIFT 84 OF SHIFTS

8400, STMP1 :DATA CHAR

PC, RPOKE SSHIFT IN THIS CHAR

#140000'0,R0  ;EXPECTED DATA PLUS

;RXERR & OVRRUN
oRXDBUF ,R1 ;s RCTUAL
REqu ; COMPARE EXP VS. RCT

2 :SPECIFICALLY LOOK AT RXERR 3

;OVRRUN BITS...THEY BOTH SHOULD BE SET

;s THIS TEST VERIFYS WORD LENGTH SELECT OF THE
s sRECEIVER SECTION,IT USES THE ERROR FLRGS

HH

}élli!lliiill*lll!l!il*llli!l!li!ll!liIllllll!!ll!iill!lliil!l}l!
T13: SCOPE

BIS

: 270 DETERMINE THAt IT WAS SELECTED CORRECTLY
VRRUN, RXERR)

; ;MODE: ]S
+ sLENGTH: EIGKT
:125

SMRESET,dTXCSR ;MASTER RESET

SEQ 004G
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DZDURR.M11  12-0CT-76 10:29 INITIARLIZE THE COMMON TARGS SEQ 0041
1958 006326 012777 000000 173366 MOV $ISYMOD, 3PRRCSR ;SET THE MODE
igg 006334 062777 000400 17336M BIS SMRESET,@TXCSR :MRSTER RESET
1961 :SET MAINT DATA,CLK,BREAK, SMAINTENANCE MODE
iﬁ 006342 012777 064001 173356 MOV sMTORTA! CLK'MINT!BREAK , TXCSR
1964 :GET MODE ,# OF BITS,PARITY 8L0AD SYNC REG
1965 0063SD 012777 006000 173344 MOV nsvﬁoossxm?sgnosﬁneo ARCSR
1966 006356 052777 00002C 173326 BIS BSYNSCH SRXCSR ;SET SYNC SEARCH
1967 -POKE CLK TO GEY RECEIVER INTO SYNCROIZATION....
1968 006364 (Y2777 020000 173334 81¢ #CLK, 3TXCSR sPOKE CLK DOWN
1959 006372 0S2777 020000 173326 BIS #CLK' QTXCSR 'POKE CLK UP
1970 :POKE CLK TO GET LOGIC INTO SYNCRONIZATION
1971 DOBMO0 042777 020000 173320 BIC #CLK, 9TXCSR sPOKE CLK DOWN
1972 006406 052777 020000 173312 BIS sCLK  3TXCSR s POKE CLK UP
1973 D06MIN 016703 173276 MOV R R3 ‘SET UP FOR ERROR MESSAGE
1974 006420 012700 0U012S MOV 8125,R) :EXPECTED
1975 424 012767 000012 172470 MOV $10. s:-qh -8 OF SHIFTS
1976 432 012767 001268 173049 MOV 81252, ST™PI :DRTA CHAR
1977 00BNY0 004767 010332 JSR PC, RPOKE !GHIFT IN THIS CHAR
1978 0OBY4M4 105777 173242 TSTB  SRKCSR ;RXDONE *
1379 DO6YSD 100401 8] .4
1380 00BYS2 104004 ERROR 4 -RXDONE SHOULD BE SET
188] 0O64SN 017701 173236 MOV SRXDBUF , A1 : ACTUAL
1982 006460 020001 CMP RO,R1 ' ;COMPARE'EXPECTED VS. ACTUAL
1983 006462 00140] BEQ L+4
1384 0OB4EY 104002 ERROR 2 sRECEIVED DATA DID NOT MATCH
1965 EXPECTED DRTA - CHECK MAINT DATA
1386 :0R RECEIVER LOGIC
1987 DOB4GE 012767 000012 172426 MOV 810. SHIFT -4 OF SHIFTS
1988 (006N74 012767 001282 172776 MOV 81252 STMP! :DATA CHAR
1989 006502 004767 010270 JSR PC , RPOKE SHIFT IN THIS CHAR
1990 _ :NOW SHIFT IN A SECOND CHARACTER’WITHOUT READING RXDBUF
1991 006506 012767 000012 172406 MOV 810, ,SHIFT .8 OF SHIFTS
1932 0065J4 012767 001252 172756 MOV 81262 STMP1 'DATA CHAR
1983 006522 004767 010250 JSR PC, RPOKE :SHIFT IN THIS CHAR
1994 006526 012700 140125 MOV $1400007125,R0 ;EXPECTED DATA PLUS
1935 :RXERR 8 OVRRUN
199 006532 017701 173160 MOV SRXDBUF ,R1 s ACTUAL
1997 006536 020001 CNP RO,R1 ;COMPRRE'EXP VS. ACT
1998 006540 001401 BEQ .+4
1999 DO6S42 104002 ERROR 2 :SPECIFICALLY LOOK AT RXERR &
%%1 . : OVRRUN BITS...THEY BOTH SHOULD BE SET
2002 : s THIS TEST VERIFYS WORD LENGTH SELECT OF THE
2003 s +RECEIVER SECTION,IT USES THE ERROR FLAGS
200M ;270 DETERMINE THAt IT WAS SELECTED CORRECTLY
2005 :  (OVRRUN, RXERR)
2006 : *MODE : 1SYMOD
2007 : SLENGTH: EIGHT
2008 : s CHAR: 252
2010 . ll!ll!&il!ll!llllll!il!li*ii!!l!!!i!lll!!***l!ll!iliiii*ll{*i*l
2011 006544 000004 t&ti4: score
2012 006546 052777 000400 173152 BIS SMRESET,9TXCSR  ;MASTER RESET
2013 006554 012777 173140 MOV $ISYMOD, 9PRRCSR ;SET THE MODE
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0S2777
012777
0s2777

000400
000000
000400

173136

173100

173106
173100

173072
173064

172242
172612

172200
172550

172160
172530

172724
172712
172710

10:06 PAGE 45
INITIARLIZE THE COMMON TRGS

BIS 8SYNSCH, 3RXCSR ;SET gvnc ARCH
-POKE CLK TO cg? Rsc??vsﬁsiut SYNESOIZRTION....
BIC 8CLK,3TXCSR sPOKE CLK DOWN
BIS 8CLK arxc§a : POKE CLK UP
;POKE CLK T0 GET LOGIC INTO SYNCRONIZATION
BIC sCLK, 9TXCSR s POKE CLK DOWN
BIS sCLK ' 9TXCSR s POKE CLK UP
MOV R R3 !SET UP FOR ERROR MESSAGE
MOV 8252, RO :EXPECTED
MOV 10. 'SHIFT . 8% OF SHIFTS
MOV 21524 STMPI :DATA CHAR
JSR PC, RPOKE *SHIFT IN THIS CHAR
gg}e agﬁcsa s RXDONE }
ERROR Y . RXDONE SHOULD BE SET
MOV SRXDBUF , R] - RCTUAL
ggg qunx . COMPRRE 'EXPECTED VS. ACTUAL
ERROR 2 :RECEIVED DATA DID NOT MATCH
s EXPECTED DATR - CHECK MAINT DATA
:OR RECEIVER LOGIC
MOV #10.,SHIFT .4 OF SHIFTS
MOV #1524 STNPL : DATA CHAR
JSR PC, RPOKE ;sn%rr N THIS CHAR
:NOW SHIFT IN A SELOND CHARACTER'WITHOU? REROING RXDBUF
MOV 810.,SHIFT .4 OF SHIFTS
MOV 81524 sTMP] :DATA CHAR
JSR PC, RPOKE sSHIFT IN THIS CHAR
MOV $140000'252,R0 ;EXPECTED DATA PLUS
RXERR & OVORUN
MOV JRXDBUF , k1 : RCTUAL
ggs R94R1 . COMPARE 'EXP VS. RCT
ERROR 2 :SPECIFICALLY LOOK AT RXERR 3
:OVRRUN BITS...THEY BOTH SHOULD BE SET
.+ THIS TEST VERIFYS WORD LENGTH SELECT OF THE
. RECEIVER §£crxon IT USES THE ERROR FLAGS
2170 DETERMINE THAY IT WAS SELECTED CORRECTLY
: ; (OVRRUN, RXERR)
: *MODE : ISYMOD
s s LENGTH: EIGHT
: sCHAR: 377
.. l!llilii!!!ll!lﬂll!ll!i!i!lil!i!il!l!!li!llllli!ii!*!l**l!!l!lil
t5715:  score
BIS SMRESET,JTXCSR  ;MASTER RESET
MOV $ISYMOD. SPARCSR ;SET THE MODE
BIS SMRESET dTXCSR ;MASTER RESET

DOH

BIS SMRESET,JdTXCSR ;MARSTER RESET

:SET MAINT DATA, AK, SMAINT M
173130 S InovDn 25¥08§55c£x!n NTEBRESE,OQQESR

73 o "hoy® & SISTAGOIAIGT I NOBARIC SPRRLSR

SEQ 0042
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DZDURA.N11 12-0CT-76 10:29 INITIRLIZE THE COMMON TRGS SEQ 0043

;SET MAINT DATA,CLK, BREAK, BMAINTENANCE MODE
007016 012777 064001 172702 MOV sMTOATA!CLK! MINT!BREAK, 3TXCSR
+SET MODE ,# OF BITS,PARITY SENSE,3LORD SYNC REG

86638 148EE3 B MR AR NG

.POKE CLK TO GEY RECEIVER INTO SYNCROIZATION....

{75eed Bie MChARCE iR G R

:POKE CLK TO GET LOGIC INTO SYNCRONIZATION

88
&
&
H

; SH N THIS CHAR

004767 007614
?%gDING RXDBUF

2072
2073
grs
g
2080
2081 33;323 172644 BIC #CLK, 9TXCSR -POKE CLK DOWN
2082 172636 BIS sCLK | JTXLSR POKE CLK UP
2083 007070 MOV R R3 *SET UP FOR ERROR MESSAGE
2084 007074 MOV 8377 RO EXPECTED
2085 007100 172014 MOV 810. 'SHIFT -8 OF SHIFTS
2086 007106 172364 MOV 81776 §"MP1 :DATA CHAR
2087 00711y JSR PC, RPOKE :SHIFT IN THIS CHAR
2088 007153 7STB RXCSR ;RXDONE )
2089 0071 BMI A
2090 007126 ERROR Y :RXDONE SHOULD BE SET
2091 007130 MOV JRXDBUF , A1 SACTAL
2032 0071 CNP RO,R1 ' ;COMPARE EXY¢CTED VS. ACTUAL
2093 007136 BEQ . +4 ]
2094 007140 ERROR 2 sRECETVSu DATA DID NOT MATCH
2095 'EXPECTED DATA - CHECK MAINT DATA
= g e Lggg
007142 012767 000012 171752 MOV $10.,SHIF .4 OF 15
2098 007150 012767 001776 172322 MOV 81778 STMPI :DATA CHAR
2099 007156
207162

JSR PC E ;rr
:NOW SHIFT IN A SECOND CHARACTER' WITHOU
MOV -8 OF SH

012767 0000J2 171732 810.,SHIFT .8 OF SHIFTS
007170 oxa7s; 8317;5 172302 ?gz 8&7;§ sgnpx ;gﬂT?TCHﬂRTH ¢ chem
883é53 8?3;30 145377 MOV 01¢0085937?,Ro : x#ec D DATA PLUS
1 172504 MOV F R i AXE SR B OVRRUN
% 1 CMP ggxg? ';éomms'w%. ACT
007214 001401 BEQ L+4
007216 104002 ERROR 2 :SPECIFICALLY LOOK AT RXERR &

:OVRRUN BITS...THEY BOTH SHOULD BE SET

:: THIS TEST VERIFYS WORD LENGTH SELECT OF THE
: \RECEIVER SECTION,IT USES THE ERROR FLRGS
: 110 rsngiggayun? IT WAS SELECTED CORRECTLY

LY

: 1 MODE : 15100

s sLENGTH:EIGHT

: :CHAR: 0

. !llillii!!lll!l!!Ilil»!ll!ill!!*i!l!li*l**l*!l**!i!ii*l***i**Iii
007220 00000M t8t1e:  SCOPE
007222 052777 000400 172476 BIS BMRESET,dTXCSR  ;MASTER RESET
8375 8&5777 00 172464 MOV $1SYMOD | JPARCSR :SET THE MODE
7 777 00 172462 BIS SMRESET @TXCSR ;MASTER RESET

NNV VNN N N RV PRV N MR RM D DTV M
St ot s ot Bt Bt G Bt ot Pt Pt Gt Bt Pt Pt Pt Pt Pt Pt Bt Pt it Gt Pt Bt Pt
RECR8o oSt w0 38IRRZBKER




f
t
'
4
'

' JZDUR-A MARCYLL 27(1006)
12-0CT-76

| DZDURR.M11

19-APR-77
29

n
o

MLMVNY R UMMV N N IVMNL N NIV LN TVTVTU N PRI PRI I TV R PR PO UMY ML PV T MU M RV MV RUCL D DfVrYMNONY
PR IS I IR e e LR R E LR I S SR Y R R L 8 5 SF F £ S EEBBSR R PE R UERBY

10:06 PAGE 47
INITIALIZE THE COMMON TAGS

;SET MAINT DATA,

MOV

o

Fo4

CLK, BRERK, SMAINTENANCE MODE
sMTOATA! CLK!MINT 'BREAK, 8TXCSR

DE ,s OF BITS,PARITY SENSE, 8LORD SYNC REG

e B LANOPIO, R

.POKE CLK TO GEY RECEIVER INTO SYNCROIZATION....

Bf

BIS
MOV
MOV
MOV
MOV
JSR
TSTB
BH&
ERKOR
MOV
cMP

BEQ
ERROR

MOV
MOV

JSR
:NOW SHIFT IN A
MOV

MOV
JSR
MOV

MOV
CMP
BEQ
ERROR

SooIhER ROE ok B

: POKE CLEIEO GET LOGIC INTO SYNCRONIZATION

CLK, 9TXCSR :POKE CLK DOWN
8CLK' aTXCSR : POKE CLK UP

R JR3 ‘!SET UP FOR ERROR MESSAGE
80 RO -;xpecreb

810, SHIf .4 OF SHIFTS

81000 STMP! :DATA CHAR

PC, RPOKE 'SHIFT IN THIS CHAR
ag&csn s RXDONE »

4 . RXDONE SHOULD BE SET
SRXDBUF ,R] - ACTUAL
qunx - COMPARE ' EXPECTED VS. ACTUAL

2 :RECEIVED DATA DID NOT MATCH
'EXPECTED DATR - CHECK MAINT DATA
:0R RECEIVER LOGIC

£10. sa{tr -8 OF SHIFTS

21000 stmP] :D TR CHAR

PC . RPOKE :SHIFT IN THIS CHAR

SECOND CHARACTER' WITHOUT READING RXDBUF

810. ,SHIFT .8 OF SHIFTS

#1000, ST™PI 'DATA CHAR

PC, RPOKE ;EHIFT N THIS CHAR

#140000!0, RO sEXPECTED DATA PLUS

;RXERR & OVRRUN
JRXDBUF ,R1 s ACTUAL
quﬂl : COMPRRE'EXP V3. RCTY

2 :SPECIFICALLY LOOK AT RXERR 8

sOVRRUN BITS...THEY BOTH SHOULD BE SET

;s THIS TEST VERIFYS WORD LENGTH SELECT OF THE
: ;RECEIVER SECTION,IT USES THE ERROR FLRGS
; ;7O DETERMINE THAt IT WAS SELECTED CORRECTLY

L

ILENGTH:

; ; CHAR: 25
-'llliliéégg{!ll!!llill!llillllli*l!!lll*llli!llll*li!!lliliili!l

BIS S$MRESET ,dTXCSR ;MASTER RESET

MOV #SYNEXT,JPARCSR ;SET THE MODE

BIS SMRESET,dTXCSR  ;MASTER RESET

;SET MAINT DATR,CLK,BRERK,3MARINTENANCE MODE

SEQ 0044
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DZDURR.MI1  12-0CT-76 10:29 INITIRLIZE THE COMMON TRGS SEG 0045

Sigg 007472 012777 064001 172226 MOV SMTDRTA!CLK! MINT ! BREAK , 3TXCSR
gxgg :GET MODE ,8 OF eéts Pnnlrv SENSE abono SYNC REG

186 007500 012777 020000 172214 MoY sSYNEXT!FIVETNOPAR! 0, 9PARCSR
2186 007506 052777 000020 172176 Bl 8SYNSCH aaxcgn -gﬁr Sgnncu SYNC
2187 :POKE CLK Y0 GET LOGIC INTO SYNCRONIZATION
a%ea 007S14 042777 (020000 {;5?9: gxg :ng, ¥§c§§ ;gox ct§ DOWN
5133 883&35 8i§703 ?§2?22 név Rxbeog,ng 352# us FOHPERROR MESSAGE
2191 DO7S34 012700 (00002S MOV 425, R0’ ;EXPECTED
2132 00740 012767 000005 1713SH MOV 85, SHIFY -4 OF SHIFTS
2133 007546 865?87 § 171724 MOV 325 $TMPI :DATA CHAR
2199 007554 767 007216 JSR PC, RPOKE :SHIFT IN THIS CHAR
2195 007560 105777 172126 TSTB  SRXCSR ;RXDONE )
2196 007564 100401 44
2197 007556 104004 ERROR 4 . RXDONE SHOULD BE SET
2198 007570 017701 172122 MOV JRXDBUF ,R] - RCTUAL
2199 007S7M (020001 CMP RO,R1 ' ;COMPRRE EXPECTED VS. ACTUAL
2200 007576 001401 BEQ . +4
2201 134002 ERROR 2 :RECEIVED DATA DID NOT MATCH
2202 :EXPECTED DATA - CHECK MAINT DATA
2203 :OR RECEIVER Loc¥c
2204 007602 012767 000005 171312 MOV 85, SHIFT -4 OF SHIFTS
2205 007610 012767 000025 171662 MOV 124 STMP] :DATA CHAR
2206 007616 0OM767 007154 JSR PC . RPOKE :SHTFT IN THIS CHAR
2207 -NOW SHIFT IN R SELOND ?Hnnncrcn W] 40g; R;QDING RXDBUF
2208 007622 012767 00000S 17127 MOV 35 SHIF .8 OF SHIFTS
2203 007630 012767 000025 171642 MOV 8¢ STMPI :DATA CHAR
2210 00763 004767 007134 TSR PC. RPOKE ‘E” FT IN THIS CHAR
2211 007642 012700 140025 MOV #140000'25,R0  ;EXPECTED DATA PLUS
2212 :RXERR 8 OVRRUN
2213 DO7646 017701 172044 MOV JRXDBUF , R t ACTUAL
gglq 007652 020001 CMP RO,RI ';COMPRRE’EXP VS. ACT

15 007654 001401 BEQ Ry
2216 007656 104002 ERROR 2 :SPECIFICALLY LOOK AT RXERR B
ggig :OVRRUN BITS...THEY BOTH SHOULD BE SET
2219 : s THIS TEST VERIFYS WORD LENGTH SELECT OF THE
2220 : 'RECEIVER SECTION,IT USES THE ERROR FLAGS
2221 : 170 DETERMINE THAt IT WAS SELECTED CORRECTLY
2222 ; 3 (OVRRUN, RXERR)
2223 : ' MODE : SYNEXT
2224 s sLENGTH:FIVE
225556 : ;CHAR: 12
2227 s !l!llliillll!llll!!l!lllll!ll!!l!lll!&i!!l!lil!lllll**lil«l!ii{{
2228 007660 000OOM t&120: SCOPE
2229 (007660 052777 000400 172036 BIS SMRESET, aTXCSR  ;MASTER RESET
2230 007670 012777 020000 172024 MOV $SYNEXT) QPARCSR :SET THE MODE
5531 007676 0S2777 000400 172022 BIS BMRESET,JTXCSR ;MASTER RESET
22§§ :SET MAINT DATA,CLK,BREAK, SMAINTENANCE MOOE
ggas 007704 012777 064001 172014 MOV eNTORTA! CLK!MINT T BREAK, 3TXCSR
5539 :SET MODE , 8 OF agvs PQR}TY ssnsg 8LORD SYNC REG

007712 012777 020000 172002 MOV sSYNEXT!F IVETNOPAR! 0, 3PARCSR
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DZDURR.M11  12-0CT-76 10:29 INITIALIZE THE COMMON TAGS SEG 00u&
2238 007720 0S2777 000020 171764 BIS 8SYNSCH, 9RXCSR  :SET SEARCH SYNC
2039 POKE CLK TO GET LOGIC INTO SYNCRONIZATION
2240 007726 042777 020000 171772 BIC #CLK, STXCSR :POKE CLK DOWN
2241 00773 052777 020000 17176M BIS #CLK | TXCSR POKE CLK UP
Sg:g 88;;:5 13;88 71750 MOV Rxoegr,ns :SET UP FOR ERROR MESSAGE
1 ﬁoﬁma MOV 812 RO’ SEXPECTED
2294 007752 012767 00000S 171142 MOV 85, SHIFT 8 OF SHIFTS
2245 007760 012767 000012 171512 MOV 112, $TMP1 :DATA CHRAR
2246 007766 004767 007004 JSR PC, RPOKE 'GHIFT IN THIS CHAR
2247 007772 105777 17171M TSTB  JRXCSR ; RXDONE
m 100401 BMI .+4
aeqig 1 104004 ERROR 4 . RXDONE SHOULD BE SET
2250 010002 017701 171710 MOV JRXDBUF , k1 - ACTUAL
2251 010006 020001 CMP RO,RI ' ;COMPARE'EXPECTED VS. ACTUAL
2252 010010 001401 BEQ e
2263 010012 104002 ERROR 2 :RECEIVED DATR DID NOT MATCH
th) 'EXPECTED DATR - CHECK MAINT DATA
S532 I0014 012767 0O0OOS 171107 oy s suiFr R RECEIVER LOCTe e
5559 810022 012767 000012 171480 MOV s12;ST™P] 5on?£ Eﬂan
2258 010030 004767 006742 TSR PC . RPOKE :SHIFT IN THIS CHAR
sggg :NOW SHIFT IN A §£¢gg? gunancrsn uxruog; n;noxnc RXDBUF
010034 012767 000005 171060 MOV F .8 OF SHIFTS
gasx 0{0042 01275; 880953 171430 ?o; ;éé srppx ;ogrchuﬂaTH -
2 818823 8?3;80 143015 ngv oxégsgofle,no Eé scvéo on*ﬁ SLUS
2264 :RXERR & OVRRUN
2265 010060 017701 171632 MOV JRXDBUF ,R1 : ACTUAL
2266 010064 020001 CHP RO,R1 ' ;COMPARE'EXP VS. RCT
2267 010066 001401 BEQ _+4
2068 010070 104002 ERROR 2 :SPECIFICALLY LOOK AT RXERR &
sggg :OVRRUN BITS...THEY BOTH SHOULD BE SET
2071 : s THIS TEST VERIFYS WORD LENGTH SELECT OF THE
2072 : 'RECEIVER SECTION,IT USES THE ERROR FLAGS
2273 :170 gsrsnnxnc THAY 1T WAS SELECTED CORRECTLY
2274 33 RXERR)
2275 } *MODE : SYREXT
2276 1 ;LENGTH:FIVE
SS;; ; ;CHAR: 37
2279 s e ll'll'lI‘i!'l!lll!l!lllli'l!'l'l'l!llllilii!lil!!lll*l*iilii!illli!lii
2280 010072 000004 Y8121: SCOPE
2281 010074 052777 000400 171824 BIS SMRESET,JTXCSR  ;MASTER RESET
2282 010102 012777 020000 171612 MOV nsvnexr,gpnncsa :SET THE MOD
2283 010110 052777 000400 171610 B81S SMRESET JTXCSR ;MASTER RESE
2285 :SET MAINT DATA,CLK, BREAK, SMAINTENANCE MODE
2286 010116 012777 064001 171802 MOV sMTOATA! CLK!MINT 'BREAK , aTXCSR
288 :SET MODE ,8 OF BJTS,PARITY YNC REG
5589 010124 012777 020000 171570 MOV STREKT Mg@gﬁ%%g‘a
2290 010132 052777 000C20 171552 BIS 8SYNSCH, SRXCSR  : SET' SEARRCH SYNC
2291 :POKE CLK TO GET Locrg INTO SYNCRONIZATION
2232 010140 042777 020000 171560 BIC sCLK, 9TXCSR -POKE CLK DOWN
2033 010146 052777 020000 171852 BIS 8CLK  TXCSR :POKE CLK UP
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2300 010210
Bl B
10214
2303 010220
c304 010222
230S 010224
2306
T
2 g
2310 010242
EB{I |
s s
! flse
2316
2317 010272
2318 010276
2319 010300
2320 010302
23l
e3ee
2323
324
325
2326
2327
edes
2329
2330
2331 |
i g
23 010314
233 010322
ox
2338 010330
2339
Sg:? 010336
5345 010344
4 010352
2345 010360
2346 010366
eM?7 018372
2348 010376
2349 010404
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i
i

315707
004787

=
813780
017701
020001

001401
104002

o9

012777
052777

012777

171476

20005

006530

000837
Ciiiy

171420

000400
000400

064001

170730
171300

171412
171400
171376

171370

171356
171340

171346
171340

104

INITIALIZE THE COMMON TAGS
"8V RX?BHF 'R3 ssr UP FOR ERROR MESSAGE
MOV s EXPEC
MOV 85 QHIFT o OF snxrts

(T e gux 1IN TH1s CHeR

1578 achsn : RXDONE b

10:06 PAGE 50

BMI
ERROR - RXDONE SHOULD BE SET
MOV anxoaur Al ACTUAL

SES noqn1 - COMPARE ' EXPECTED VS. RCTUAL
ERROR 2 :RECEIVED DATA DID NOT MATCH
‘EXPECTED DATR - CHECK MRINT DATA
MOV %5, SHIFT’ $OR RECEI:ER LOGIE S
MOV 37 stmpP1 fongg éﬁﬁa
JSR PC, RPOKE sSHIFT IN THIS CHAR
- NOW suxrrvxn A sstgzoFCHnancrzn WITHOUT R§noxnc RXDBUF

cg? s*nPl .

MOV
%88 o1ﬁ8585§37 RO 2x5507 B 52*3 SLUS
nxsna 8 OVRRUN

«awe

MOV JRXDBUF ,R1 RCTURL
gEs +QR1 COHPQRE EXP VS. ACT
ERROR 2 ;SPECIFICALLY LOOK AT RXERR &

:OVRRUN BITS...THEY BOTH SHOULD BE SET

: s THIS TEST VERIFYS WORD LENGTH SELECT OF THE
"RECEEVE §£cr¥on IT USES THE ERROR FLAGS
,,TO RMINE tHAt IT WAS SELECTED CORRECTLY
: (OVRRUN, RXERR)
+ 1 MODE : SYREXT
,,LENGTH FIVE
HGR: 0

uuuihnn 1211222222222 3222222222222 2223222222 222222 23"

&1z, mff
SMRESET,TXCSR  ;MASTER RESETY
MOV 8SYNEXT, 9PARCSR ;SET THE MODE
BIS BMRESET,JTXCSR ;MASTER RESET

:SET MAINT DATA,CLk BREAK, SMAINTENANCE MODE
MOV eMTOATA!CLK!MINT!BREAK, JTXCSR

SET OO 8 OF SLIS ORITY SUSE OB 20

BIS 8SYNSCH aaxcsa . SET' SEARCH SYNC
. POKE CLk TO GET LOGI inrg svnch gnrxon

BIC #8CLK, 9TXCS K DOWN

BIS 8CLK ' 9TXCSR POKE CLK LP

MOV RXDBUF ,R3 :SET UP FOR ERROR MESSAGE

MOV 50, RU Expscrzb

MOV 85, SHI ¥ OF SHIFTS

MOV 0 svnpx onrq CHAR

SEG 0047




-— ———— - —

JGH

DZDUR-R MACYL11 27(1006) 19-APR-77 10:06 PRGE Sl

DZDURA.MI1  12-0CT-76 10:29 INITIALIZE THE COMMON TRGS SEQ 0048
eggo 10412 004767 006360 JSR PC, RPOKE .SHIFT IN THIS CHAR
23681 010416 108777 171270 1578 ankcsa : RXDONE *
2362 0l0422 100401 BMI
2363 Q10424  10ONOOM ERROR - RXDONE SHO¥L0 BE SET
sg&g i gs 7701 171264 MOV gnxgeur Ré E *
1 CMP OMPARE ' EXPECTED VS. RCTUAL
S 8%8332 085385 Eggon é :RECEIV TA DID NQT MATCH
5 oo SESELIED R DIR0GT TR v
9 on RECEIVER LOGIC
2360 QIONY0 012767 0D0O0S 170454 MOV 15, SHI a or gHIFTS
2361 010446 012767 000000 171024 MOV 80, TP
2362 010454 004767 006316 JSR P RP surrr IN THIS CHAR
2363 :NOW SHIFT INA S gu? gunnncrsk uxmogH Rgnoxnc RXDBUF
2364 DI0N60 012767 00000S 17043 MOV
235 010466 (012767 000000 171004 MOV :o ST™PI
2366 010474 00N767 006276 JSR PC’ RPOKE SHIFT IN THIS CHAR
sggg 010S00 012700 140000 MOV 1400000, RO EXPESTED onrp PLUS
2369 010SOM 017701 171206 MOV SRXDBUF ,R]
2370 010510 020001 CMP RO, R1 conpnae EXP vs ACT
sg7$ 810512 0014C1 BEG .+4
70 010514 104002 ERROR 2 :SPECIFICALLY LOOK AT RXERR 8
gg;a : OVRRUN BITS...THEY BOTH SHOULD BE SET
375 ,,TH T VERIFYS WORD LENGTH T OF THE
376 : EE vEg VE {ou IT ﬁgsg THE E ruzcs
2377 ;170 DETERMINE Tﬂnt IT WAS SELECTED CORRECTLY
2378 (OVRRUN RXERR)
2379 vﬁ;xr
2380 ,,LE ru
S
2383 iii!**iiii**{i;li}ii&i{&if&ll&iiliiii&!&&*illi&i&liiif}i;f:&l{;
2384 010516 00000Y +8123:  SCOPE
2385 010520 0S2777 000400 171200 BIS $MRESET,JTXCSR  ;MASTER RESET
2386 010526 012777 020000 171166 MOV 8SYNEXT . 9PARCSR ;SET THE MODE
ggg 010534 062777 000400 171164 BIS SMRESET JTXCSR :MASTER RESET
2389 :SET MAINT DATA,CLK, BREAK, SMAINTENANCE MODE
ggg? 010542 012777 064001 171156 MOV sMTDATA!CLK!MINT!BREAK, dTXCSR
2392 :SET MODE ,8 OF BITS,PARITY 0RD SYNC REG
2393 010550 012777 022000 17114M MOV 8SYNEXT! xx.ESEES SLQPRRCSR
23% 010556 052777 000020 17112% BIS 8SYNSCH_ 3R sgnncn SYNC
2395 | 171134 :POKE CLK TO GET Locchinro svuckonxz
53 Biloy B SO i SmE?ﬁ ipOkE &k DR
2398 oioaoo oxs;na 171112 noz s EXPEC EOSET UP ron ERROR MESSAGE
[ K
s Si0ely BiS7D9 B3R 17030 Hov :ﬁ ey ) OF SHIFTS
2401 010515 01a7s; 882052 170654 ng; ueé srnpx ga;grc?:RTHls ek
§§§§ ﬁigg %g%ggz 171656 ig}a agk 23 - RXDONE b
2405. 010636 10400 ERROR u :RXDONE SHOULD BE SET




KOY

DZDUR-R MACYL1l 27(1006) 19-APR-77 10:06 PRGE S2

DZOURA.M11  12-0CT-76 10:29 INITIRLIZE THE COMMON TAGS SEG 0049
10640 1 171052 MOV RXDBUF ,R] :ACT
5389 81& W CNP 3 8 conpnas Expgcsfso VS. RCTUAL
5403 010650 104002 T T TA DID NQT MATCH
gm xSEévES Bgm - &-r.gx MAINT DATA
11 oa chema LOGIC
2412 010852 012767 000006 170242 MOV 26, SH rr ?F gnms
gxa gmsso &1}5757 %ozs 170612 MOV .as :DATA
18 010666 767 104 ISR ox SHIFT IN THIS CHAR
2415 :NOW SHIFT IN A sséouo CHARACTER' uxmg‘ READING RXDBUF
2416 010672 012767 000006 170222 MOV SHIFT
2417 010700 012767 000025 170572 MOV saé sT™P1 : DATA c:-m
2418 010706 00M767 00606Y JSR PC . RPOKE :SHIFT IN THIS CHAR
2419 010712 012700 140025 MOV 8140000725,R0  ;EXPECTED DRTA PLUS
2420 :RXERR & OVRRUN
2421 010716 017701 170774 MOV SRXDBUF ,R1 s ACTURL
2422 010722 020001 CMP RO,R1 ' ;COMPARE'EXP VS. ACT
2423 010724 0GI40! BEQ L +4
2424 010726 104002 ERROR 2 :SPECIFICALLY LOOK AT RXERR &
ggss :OVRRUN BITS...THEY BOTH SHOULD BE SET
2427 . THIS TEST vsnprvs WORD LENGTH SELECT OF THE
2428 RECEIVE SECTION.IT USES THE ERROR FLAGS
2429 :T0 DETERMINE THAY IT WAS SELECTED CORRECTLY
2430 : (OVRRUN, RXERR)
2431 MOOE : SYREXT
2432 ,,LE TH: SIX
= i
2435 R R R R R
2436 010730 t8T24:  SCOPE
2437 010732 0S2777 000400 170766 BIS SMRESET,JTXCSR  ;MASTER RESET
2438 010740 012777 020000 7075 MOV 8SYNEXT, 9PARCSR ;SET THE MODE
2439 010746 0S2777 000400 170752 BIS SMRESET,JTXCSR :MASTER RESET
am: :SET MAINT DATA,CLK,BREAK, SMAINTENGNCE MODE
e‘e%wg 010754 012777 064001 170744 MOV sMTORTA!CLK!MINT!BREAK,3TXCSR
1762 012777 022000 170732 o6 o0kt Eé%’?‘-‘ M SF‘ IRC REG
g% 810#66 85.2777 0008208 170714 BIS 8SYNSCH % szmcu SYNC
2447 | 170722 : POKE Clem GET LOGIC )t(gro smckonxéngﬁgu
S*.:% Slx:omi &% 170714 axg :ELK g}xcg ,POK CLK LP[
2450 011012 016703 170700 MOV R JR3 ‘SET UP FOR ERROR MESSAGE
2451 011016 012700 0000S2 MOV 852, RO sxpscn»:b
2452 011022 012767 000006 170072 MOV 86, SHIFT’ 8 OF SHIFTS
2453 011030 012767 000052 170442 MOV osé STMP] omn CHAR
2454 0110% ;;; 574 ;sn PC hpoxs 'GHIFT IN THIS CHAR
?wa 11 t 170844 518 aak ;RXDONE 4
2455 011 1 BMI
7 011050 10400M ERROR . RXDONE SHOULD BE SET
2458 011052 017701 1706M0 MOV anxoaur R1 - QC TUAL
2459 011056 CMP Rl ';COMPARE'EXPECTED VS. ACTUAL
2460 011060 001401 BEQ +4
2461 011062 104002 ERROR 2 :RECEIVED DATA DID NOT MATCH




" DZDUR-R MACYL1 27¢1006)
DZDURA.MI1 15-0CT-76

2462

46l

246N  01106M 012767
g46S 011072 012767
246t 011100 004767
c4b?

468 011104 012767
2469 011112 012767
e470 011120 004767
471 0llle4 012700
gu7e

2473 011130 017701
247v 011134 020001
2475 01113 001401
2476 011140 104002
477

2478

2479

2480

2481

c48e

2483

24ey

248s

2486

2487

2488 011142

2489 0lliv4 052777
c4390 011182 012777
c491 011160 082777
2492

c4s3

cH 011166 012777
2435

4%

e497 01117 012777
c498 011202 082777
2499

2S00 011210 042777
es0l 011216

esde 0i1224 016703
2503 011230 012700
oS04 Olled 012767
eS0S 0Olleye 012767
2506 011250 004767
2507 011254 105777
2508 011260 100401
2509 0fiz2ee 104004
2510 011264 017701
2s11 011270 020001
25l 011272 001401
2513 011274 104
2514

2515

2516 011276 012767
2517 011304 012767

19-RPR-77
4

10:29

1400Se
17Usbe

000400
000400

064001

000006
000077

170030
170400

170010
170360

170554
170542
170540

170532

170520
170502

1705190
17050¢

167660
170230

167616
170166

LOY

INITIALIZE THE COMMON TRGS

;EXPECTED DATR - CHECK MRINT DRTA
;OR RECEIVER LOGIC

10:06 PRGE 53

MOV 86, SHIFT .8 OF SHIFTS

MOV 152, $TMP1 ;gﬁrn CHAR

JER PC, RPOKE *SHIFT IN THIS CHAR
sNOW SHIFT IN A SELOND CHARACTER' WITHOUT RERDING RXDBUF

MOV 86, SHIF :8 OF SHIFTS

MOV 852, STMPI 'DATA CHAR

JSR PC, RPOKE :SHIFT IN THIS CHAR

MOV #140000752,R0  :EXPECTED DATR PLUS

:RXERR & OVRRUN

MOV JRXDBUF , R s RCTUAL

ggg quax s COMPRRE EXP VS. ACT

ERROR 2 sSPECIFICALLY LOOK AT RXERR 3

;OVRRUN BITS...THEY BOTH SHOULD BE SET

. < THIS TEST VERIFYS WORD LENGTH SELECT OF THE
t 'RECEIVER SECTION,IT USES THE ERROR FLAGS
2 T0 DETERMINE THAt IT WAS SELECTED CORRECTLY
s 3 (OVRRUN, RXERR)
: 1 MODE : SYREXT
s s LENGTH:SIX
: ;CHAR: 77
s i*!!!iiii!lllilll!*l!lil*ll!li*!ll X303 36 3638 96 3 36 36 3 36 36 3 3 % 3 3 3 % % 9 % ¥ % 3% %
¥&125:  ScoPe
BIS SMRESET,aTXCSR  ;MASTER RESET
MOV 8SYNEXT,@PARCSR :SET THE MODE
BIS SMRESET,JTXCSR :MASTER RESET

sSET MAINT DATR,CLK,BREAK, SMATNTENANCE MODE:
MOV eMTOATA! CLK* MINTIBREAK , 3TXCSR

;SET MODE , 8 OF BITS,PARITY SENSE BLORD SYNC REG
MOV BSYNEXT!SIX!NOPRR! 0, SPARCSR
BIS BSYNSCH 3RXCSR  ;SEY SEARCH SYNC
:POKE CLK TO GET LOGIC INTO SYNCAONIZATION
BIC #CLK, JTXCSR :POKE CLK DOWN
BIS sCLK JTXCSR :POKE CLK UP

MOV RXDBUF , R3 :SET UP FOR ERROR MESSAGE
MOV 877,R0’ ;EXPECTED

MOV 26, SHIFT -8 OF SHIFTS

MOV 877 STMP1 :DATA CHAR

JSR PC, RPOKE :SHIFT IN THIS CHAR

gg}a ag&csn s RXDONE }

ERROR 4 : RXDONE SHOULD BE SET

MOV aR.0BUF ,R] : ACTUAL
cMP R0<R1 : COMPARE ' EXPECTED VS. ACTUAL
+ L]

BEQ )

ERROR 2 :RECEIVED DATA DID NOT MATCH
'EXPECTED DRTA - CHECK MAINT DATA
‘OR RECEIVER LOGIC

MOV 86, SHIFT .8 OF SHIFTS

MOV 877, STNP] :DATA LHAR

SEQ 005C




MO4Y

DZDUR-A MACY1l 27(1006) 19-APR-77 10:06 PAGE SM

DZDURA.M11  12-0CT-76 10:29 INITIALIZE THE COMMON TAGS SEG 00S1

sgxg 011312 00N767 00S460 JSR POKE :SHIFT IN THIS CHAR

aséo 011316 O01E767 167576 $NOW SHIESVIN A %ECSH? CHARACTER uzoponggggoxnc RXDBUF

2521 01134 012767 000077 170146 MOV u?? STHPI :DATA CHAR

2602 011332 00N767 005440 ISR C, RPOKE SHIFT IN THIS CHAR

ggsa 01133 012700 140077 MOV 3140000.77 RO E§EESTEDOQQESNPLUS

2525 011342 017701 170350 MOV SRXDBUF ,R ACTUAL

E%g%%%%% % Rw1cwmawsm

5559 011352 104002 ERROR 2 :SPECIFICALLY LOOK RT RXERR 3

gggg :OVRRUN BITS...THEY BOTH SHOULD BE SET

2631 s+ THIS TEST VERIFYS WORD LENGTH SELECT OF THE

2532 ,,RECEIVE SECTION.IT USES THE ERROR FLAGS

2633 :TO DETERMINE THAY IT WAS SELECTED CORRECTLY

25N : (OVRRUN, RXERR)

2535 nooe : SYNEXT

2536 ,,LENGTH SIX

gggg 3 ; CHAR: 0

253925‘*0 011354 000004 1’9#5:!!!:%3;2!!!!!!5!!!!!l!!}{!l{i!ili!l!ii!llﬁiil!ll*lliillili*i

SIS Ron me pms B IESLINE R

%ﬁ 011372 0S2777 000400 170326 BIS SMRESET,QTXCSR ;MASTER RESET

2545 :SET MAINT DATA,CLK,BREAK, SMAINTENANCE MODE

sgzg 011400 012777 084001 170320 MOV sMTDATA!CLK!MINTIBREAK,ITXCSR

2548 :SET MODE , 8% OF BITS,PRRITY ssngs SLOGD SYNC REG

2549 011406 012777 022000 170306 MOV 8SYNEXTISIX!NOP PARCSR

2650 011414 052777 000020 170270 BIS 8SYNSCH 3RXCSR :SEY SEARCH SYNC

2551 14 170276 : POKE CLK 10 csr'%ocxc InTo svncégg&§ Eigﬁoouu

SEES 8114 8355%% 858383 170270 g%s sCLK ngcgn POKE CLK UP

asgg uiizas 015788 170254 ngx 55033‘ RSEXPECTEOSET UP FOR ERROR MESSAGE
6 011 315357 888332 167446 MOV €, SHIFT' 8 OF SHIFTS

2557 011454 012767 000000 170016 MOV 20 §TMP] :DATA_CHAR

2558 011462 DO4767 005310 JSR PC’ RPOKE 'SHIFT IN THIS CHAR

gggg giizgg iggzgg 170220 gg}a ankcsa s RXDONE *

2561 011474 104004 ERROR ﬁ - RXDONE SHOULD BE SET

2562 011476 017701 170214 MOV SRXDBUF , R

sgga 8{{502 gg?gg{ ggg noqnl : COMPARE EXPECTED VS. ACTUAL

2565 0113& 104002 ERROR é : RECEIVED DATA DID NOT MATCH

2566 :EXPECTED DATR - CHECK MAINT DATA

2567 :OR RECEIVER LOGIC

011510 012767 000006 167404 MOV 86, SHIFT' :8 OF SHIFTS
011516 012767 000000 167754 MOV IO STHPI DRTQ CHAR
2570 011524 004767 005246 JSR RPOKE :SHIFT IN THIS CHAR
;NOW SHIFT IN R SECONO CHARACTER WITHOUT READING RXDBUF
011530 012767 000006 167364 MOV 86, SHIFT ;8 OF SHIFTS
011536 012767 000000 167734 MCv %0, STHP! :DATA CHAR
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OZDUR-R MACY1l 27(1006)
12-0CT-76

| DZDURR.MLI
2574 01154
2575 011550
2576
2577 011554
2578 011560
2579 011562
2580 011564
2581
2582
2583
2584
2585
2586
2587
2588
2589
2590
2591
2532 0%{5?6
5% B
5% 011604
25%
2597
259 O0lisle
2599
2500
2601 011620
2b02 011626
5283 011634
eb05 011642
25 i
11654
2608 011660
Sgﬂg 811666
1 11674
esll 011700
gble 0L170M
e6l3 011706
cbl4 011710
2t Bl
4
5217 011728
18
2619
52
1 011730
sgss 011736
& e
11
§§§§ 011762
011768

004767
012700

017701
020001
001401
104002

19-RPR-77

10:29

005226
140000

170136

o800

0GO400
064001

024000
000020

020000
020400

AR

000007
1l

5076
170006

170062

000007
000125
00S034

1401eS
167724

1781

170114
170106

170074
170056

170064
170056

167234
167604

167172
167542

[
oy

P
km

NON

INITIRLIZE THE COMMON TRGS

JSR PC, RPOKE :SHIFT IN THIS CHAR
MOV 14000010, RO EXPECTED DATA PLUS
RXERR & OVRRUN

10:06 PRAGE SS

MoV SRXDBUF,R1 RCT AL
EEE quRl ; COMPARE 'EXP VS. RCT
ERROR 2 ;SPECIFICALLY LOOK RT RXERR &

;OVRRUN BITS...THEY BOTH SHOULD BE 5T

,,THIS TEST VERIFYS WORD LENGTH SELECT or THE
'RECEIVER SECTION.IT USES THE ERROR FLAGS
::TO DETERMINE THAY IT WRS SELECTED coanscer

,.(ovnnun RXERR)
: MODE : SYREXT
.,Lencraegsvsn

tg!!llll‘&lll!llllil!lllll'llll!llilllllllilllii!illlil!l!*i!ll**l
T27: SCOPE

B0V soinexlSpakace {SCT e HOBE

BIS SMRESET, aTXCSR sMASTER RESET

.SET MAINT DATA,CLK, BREAK, SMAINTENANCE MODE
MOV #MTDARTA!CLK!MINTIBREAK,3TXCSR

;SET MODE , 8 OF BITS,PARITY SFYSE BLOAD. SYNC REG
Mo¥ $SYFEXTISEVEN. LPAR'D
BIS 85YN3CH, SRXCSR su ancu svnc
: POKE CLEIEO GEY t°° g ingg svnchonxznrzon

DOWN
ﬁéé Aob arxcsn 22¥Eu3 FOHPERROR MESSAGE
MOV lWRb SEXPECT !
MOV or suxrrs
MOV oéé STHPI gﬂ
JSR HIFT xn THIS CHAR
é?}a ankcsa : RXDONE b

!
ERROR {RXDONE SHOULD BE SET
MOV QRXDBUF Al UAL

RCT
cHP RU Rl ;COMPRRE EXPE»TED VS. ACTURL

BEQ
RROR REC ) TR DID NOT MATCH
; 2 ; VE8 BQTR - CHECK “RINT DRTA

OR RECEIVER LOGIC
MOV 7, SHIFT' ;8 OF FTS

MOV 8l P! 1 DRT
JSR PC E ;sa;rr {n THIS CHAR
NOW SHIFT IN A SELOND CHARRCTER'WITHOUT REROING RXOBLF

MOV 87, SHIFT -8 OF SHIFTS

MOV 8125 §TPI :DATAR CHAR

JSR PC . RAOKE ‘SHIFT IN THIS CHAR

MOV 01400001125,R0 ;EXPECTED DATA PLUS
:RYERR § OVRRUN

MOV JR/DBUF ,R1 : RC TUARL

SEQ 0052




BOS

DZDUR-R MACY1l 27(1006) 19-RPR-77 10:06 PRGE 56
DZDURR.MI1  12-0CT-76 10:29 INITIRLIZE THE COMMON TAGS SEQ 0053
2630 011772 (20001 CMP RO,R1  ;COMPARE EXP VS. RCT
2631 011774 001401 BEQ L +4
2632 011776 104002 ERROR 2 :SPECIFICALLY LOOK AT RXERR &
Mesaq : OVRRUN BITS...THEY BOTH SHOULD BE SET
2635 : s THIS TEST VERIFYS WORD LENGTH SELECT OF THE
2636 : "RECEIVER SECTION,IT USES THE ERROR FLAGS
2637 :2TO DETERMINE THARY IT WAS SELECTED CORRECTLY
2638 ,,(ovamn RXERR)
2639 s MODE : SYREXT
2640 s 'LENGTH: ssvsn
5235 ; ; CHAR: 52
ob43 l«l!iiﬂi!lll!il!llilliiil!ll!ll!!ll!l!!lllll!l!l!lliili!*!**!!i
2644 012000 00C00M $4730:  SCOPE
2645 012002 062777 000400 167716 BIS SMRESET,3TXCSR  ;MASTER RESET
2646 012010 012777 020000 167’04 MOV #SYNEXT, PARCSR ;SET THE MODE
eag:g 012016 052777 0OOMO0 167702 8IS $MRESET JTXCSR ; MASTER RESET
2649 sSET MAINT DATA,CLK, BREAK, SMAINTENANCE MOOE
2650 012024 012777 064001 16767Y MOV sMTDARTR!CLK!MINT!BREAK,JTXCSR
:SET MODE ,8 OF BITS,PARITY SENSE uoao svnc REG
2653 012032 012777 024000 167662 MoV $SYNEXT! SEVEN!NOPAR' 0, oP
2654 012040 052777 000020 167644 axs 8SYNSCH. DRXCSR  :SET ér.nncu svnc
2655 :POKE CLK TO GET LOGIC INTO SYNCRONIZATION
2656 01204 (42777 020000 167652 BIC #CLK, 3TXCSR - POKE cu< DOWN
2657 012054 (052777 020000 167644 BIS 8CLK ' 3TXCSR :POKE CLK UP
2668 012062 016703 167630 MOV RXDB{F , R3 :SET UP FOR ERROR MESSAGE
2659 012066 012700 MOV csa RO’ ;Expscrsb
2660 012072 012767 060007 167022 MOV 7 SHIFT .8 OF SHIFTS
2661 012100 012767 000052 167372 MOV osé STMP1 :DATA_CHAR
2662 012106 004767 0O466Y JSR C, RPOKE !SHIFT IN THIS CHAR
2663 012112 105777 16757 1578 aakcsa -RXDONE *
2664 012116 100401 BMI
2665 012120 104004 ERROR : RXDONE suomo BE SET
2666 012122 017701 167570 MOV anxosur Rl ACTUAL
2t57 012126 020001 CMP RG,R1 ' ;COMPARE’EXPECTED VS. ACTUAL
2668 012130 001401 BEQ L+
2669 012132 104002 ERROR 2 :RECEIVED DATA DID NOT MATCH
2670 :EXPECTED DATA - CHECK MAINT DATA
2671 :OR RECEIVER LOGIC
2672 012134 012767 000007 166760 MOV 87 SHIFT' -8 OF SHIFTS
2673 012142 012767 0000S2 167330 MOV nsé sT™P1 :DATA_CHAR
o674 012150 004767 004622 JSR C,RPOKE SHIFT IN THIS CHAR
2675 :NOW SHIFT IN f sséom cmmcrsn MITHOUT READI*'C RXDBUF
2676 012154 012767 000007 166740 MOV 7 su% .4 OF SHIFTS
2677 012162 012767 000052 167310 MOV MP1 :DATA CHAR
2678 012170 00M767 004602 TSR PC kpo«e sSHIFT IN THIS CHAR
2679 012174 012700 140052 MOV 140000's2,R0  ;EXPECTED DRTR PLUS
2680 }RXERR & OVRRUN
2681 012200 017701 167512 MOV JRXDBUF ,R1 : ACTUARL
2682 01220 020001 CMP RO,R1 ' ;COMPRRE’EXP VS. ACT
2683 012206 001401 BEQ . +4
2684 012210 104002 ERROR 2 :SPECIFICALLY LOOK AT RXERR &

2685 :OVRRUN BITS...THEY BOTH SHOULD BE SET
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DZDUR-R MACYL1 27(1006) 19-APR-77 10:06 PAGE 57

DZDURA.MI1  12-0CT-78& 10:29 INITIALIZE THE COMMON TAGS SEG 0054
2686

2687

2688 :END OF PASS

2689 :TYPE NAME OF TEST

2690 ' UPDATE PASS COUNT

2691 :CHECK FOR EXIT TO RCT-11

eag% ‘RESTART TEST

269 012212 00O0OM .EOP:  SCOPE

2695 012214 TO4767 000344 TSR PC, CKSKR

6% 012220 104401 TYPE : TYPE NAME OF TEST
2697 012222 015354 MEPQASS

2698 012224 109413 012456 CONVRT , QUTCRY

2699 012230 10401 015173 TYPE DEVICE

2700 01223 105767 166712 7STB MULTD  ;ARE YOU RUNNING MULTIPLE DEVICES ?
2701 012240 001511 BEQ cce :NO, JUMP AROUND

2702 012242 005767 166720 ST RCTREG ;RRE ANY DEVICES RCTIVE ?

2703 012246 001007 BNE RUNIT  :YES

2704 012250 104401 015205 TYPE MCOW :NO

2705 012254 016700 166706 MOV ACTREG, RO . DISPLAY ACTREG

2706 012260 000000 -SELECT SOMETHING TO RUN @ ACTREG:
2707 GELECT SWITCHES'S HIT CONTINUE (PUT SWOO =1)

2708 012262 000167 167664 MP .START :START OVER AGRIN...... YOU DESELECTED EVERYTHING
2709 012266 062767 000010 166660 RUNIT: ADD 810, BASEADD s NEXT BLOCK (RDORESSES)
2710 012274 062767 000010 166660 ZERO:  RDD 810, BRSEIV :NEXT BLOCK (VECTORS)

2711 012302 000241 cLe

2712 012304 006167 166660 ROL ROTROD ;UP DATE ROTATING POINTER

2713 012310 103410 BCS 28 +1S IT THE LAST DEVICE

2714 :70 BE TESTEG IN THIS PASS °

2715 012312 036767 166652 166646 BIT ROTADD,RLTREG  ; TEST THIS DEVICE FOR ACTIVE STATUS
2716 012320 001762 BEQ RUNIT * :IF NOT ACTIVE, TRY NEXT SS
2717 012352 004767 000034 JSR PC \{ -CALCUCATE NEM TERS
2718 012326 000167 000210 TP RESTRT :YES xrinsncnv'g'trzsr THIS DEVICE
2719 012332 012767 000001 166630 28%: MOV s1,ROTADD -OK! NOW SET UP ROTATING
2720 -POINTER' FOR'NEXT MULTIPLE PRSS
2721 01230 016767 166612 166606 MOV KEEPADD , BASERDD ;nssrg BASE ADORESS
2702 01oM6 016767 166612 166606 MOV KEEPIV,BASEIV  ;RESTORE BASE INTERRUPT VECTORS
2723 01234 00M767 000002 JSR PC, REPLAY :CALC NEW PRRAMETERS

27N 01% % BR cct - JUMP AROUND REPLAY

2755 01 016767 166566 OOM4OY REPLAY: MOV BASERDD, DUBRSE ;SET UP FOR NEW ADDRESSES
2726 012370 767 004246 JSR PC, DURDDR : CREATE NEW RODRESSES
2727 012374 016767 &%ESS 167334 MOV BRSEIV,DURIV  ;CRERTE DURIV

2728 012402 7 166552 ADD 82, BASEIV

2729 012410 016767 166546 167322 MOV BASEIV,DURIS  ;CRERTE DURIS

2730 012416 000002 166536 ADD 82.6asEIv

2731 0124 016767 166532 167310 MOV BRSEIV,DUTIV  ;CRERTE DUTIV

2732 01y 7 000002 166522 ADD 82, BASEIV

012440 016767 166516 167276 MOV BASEIV,DUTIS  ;CREATE DUTIS

27X 012446 016767 167264 166506 MOV DURIV,BASEIV  RESTORE

22;::2 012454 RTS PC

2737 012456 000001 OUTCRY: 1

2738 012460 006 002 _BYTE 6,2

2739 012462 001712 RXCSR

2740

2741 0l129eM ccC:
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DZDURA. M11
2742 01246M
5743 §1s:§u
Srid B1S47Y
5745 012500
78 pen

I's
i
743 Bisse
5781 015930
2782 012532
5724 Bif
e BieeR
5720 01842
ot
5728 Dises
5780
5761
5762
5763
5764
5765 0125E4
5766 012570
5767 012572
5788 0l
5768 01
s
573 Bi&ie
5773 019624
274 Diee
g% sl
5777 012644
5778 012650
5779 012552
5780 012654
2 JRTESS,
5785 (015662
5763 019664
5764 012666
2755 012673
% Bz
5788 012700
5789 012702
5790 012704
2731 012706
5785 012710
5794
5795
57%

3797 012712

19-RPR-77

166712
166722
166703
166406
166402

B66342

166370
167014

000340
000012
003364
170576

16bb2b

000042
000176
166636
1 000422
000007 000406

13780

015771

166640

016002

001
012700

002

177646

10:06 PRAGE S8
INITIRLIZE THE COMMON TRGS

SENCRD:

RESTRT:

CKSUWR:

CNTLU:

.BYTE
ouT:

RDSW:

SWREGL :

.SCOP]:

CLR TSTNM
CLR ERRPC
CLR SERFLG
INC PRSCNT

DOS

MOV PRSCNT,LIGHTS
MOV PRSCNT $PRSS

MOV FITER )
gEgET RESTRT
RESETY

TSR PC, (R1)
NOP

NOP

NOP

MTPS 8340

JSR PC, CKSWR
MOV IT$T1+2,SLPQDR
1571

:CLERR TEST NUMBER
: CLEAR LAST ERROR PC
: CLEAR ERROR FLAG

: UPDATE PRSS COUNT

: DISPLAY Pns§ COUNT
' PRSS COUNT TO APT

:CMECK FOR ACT-11 OR DDP

. IF NO CONTINUE TESTING

; PREVENT INTERRUPTS (PRIO: 7)

;SET LAST ADDRESS POINTER

; CHECK SWITCH REGISTER ROUTINE.
:CHECKS TO ALLOW FOR ¢1G> TO ALLOW
: THE CHANGING OF LOCRTION 176

TST as42

BNE oy

1578 #$TKS
ouT

CMPB 87, .MSG’

BNE out’
TYPE MCNTG

COM J¥RDSK
TYPE  ,MMSWR

CONVRT

SWREGL

INSTR, MMNEW

ann

177777

SWREG

0,1

5(9 J#ROSK
15 PC
iuono 0
.BYTE 6,2

SWREG

g

ouT
CHP $SHREG, SHR

3$TK
BIC 0177500 nsc

; SOF TWARE SWR PRESENT?
NO--LER VE
CHECK TTY RERDY
NO--LERVE
G% SHGRQCTER
RIP JUNK
IS IT (4G
NO

; CHECK FOR FREEZE ON CURRENT DATR

JSR PC,CKSWR

SEQ 00SS
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DZDURRA.M11 12-0CT-76 10:29 INITIARLIZE THE COMMON TAGS SEQ 00Se
| 2798 012716 032?77 001000 166514 BIT #SW0S, ISKR
2799 012724 001402 BEQ 18
gis;gg 863563 166156 | n?v LOCK, (SP)

gggé .§aTTL $v55 ROUTINE
e80M H ;lllli!illil:i;!!!l!llll!li!ll!ilgll;!ll!l!;!ll;ll!l#illl#ll;ll! .

- ¥ROUT 0 TYPE RSC SA MU H Y
o8 AT TR e P TR AT AR R R 3P oLl CHARRC TS Re AR A LINE FEED.
2807 + $NOTEL: SNULL CONTAINS THE CHARACTER TO BE USED AS THE FILLER CHARACTER.
5388 ;*NOTES: gFILLS CONTAINS THE NUMBER OF FILLER CHARACTERS REQUIRED.
2803 ' ¥NOTES: FILLC CONTRINS THE CHARACTER TO FILL AFTER.

- ¥
g8l U ING A TRAP INSTRUCTION
5815 L ?YPE ,nésgon : MESADR IS FIRST ADDRESS OF AN ASCIZ STRING
814 ; #0R
2815 3 TYPE
2816 ' g MESADR
2
2819 012734 106767 166517 $TYPE: TSTB  STPFLG :+1S THERE A TERMINAL?
2820 012740 100002 BPL 18 . BR IF YES
2821 012742 000000 HALT ‘THALT HERE IF NO TERMINAL
2822 012794 000430 BR 3 + 1 LERVE
2823 01279 010046 18: MOV RO, -(SP) : :SAVE RO
284 012750 017600 000002 MOV 32{SP), RO + :GET ADDRESS OF ASCIZ STRING
2825 012754 122767 000001 166564 CNPB  SAPTENV, SENV : tRUNNING IN APT MODE

012762 001011 BNE 628 :*NO,GO CHECK FOR APT CONSOLE

2827 012764 132767 000100 166555 BITB  #APTSPOOL,SENVM ;:SPOOL MESSAGE TO APT
2828 012772 001405 BEQ 62$ + +NO, GO CHECK FOR CONSOLE
2829 012779 010067 000004 MOV RO,61$ : 1 SEYUP MESSAGE ADDRESS FOR APT
2830 (13000 0O0N767 165004 JSR PC, SATY3 : +SPOOL MESSAGE TO APT
2831 013004 000000 618: LWORD O + : MESSAGE RDDRESS
2832 013006 132767 0000M0 166533 628: BITB  #APTCSUP,SENVM ;:RPT CONSOLE SUPPRESSED
2833 013014 001003 BNE 60S : s YES,SKIP TYPE OUT
2834 013016 112046 28: MOVB (RO)+,-(SP) : \PUSH CHARACTER TO BE TYPED ONTO STACK
2838 013020 00100S BNE 4 :3BR IF IT ISN'T THE TERMINATOR
2836 oiaoaz 0?5725 o8 ;85 gsg;+ 0 ;;Ir:¥annxnnron POP IT OFF THE STARCK
€837 : 4 b 3
S5 Oiaoe MS7I0 oooooe 3 ADD og,(sP) ;;Eﬁ}ug¥ERE?unn PC
2839 013032 000002 RTI v ARETURN
2840 013034 122716 000011 NS CMPB  &HT, (SP) *BRANCH IF (HT>
2841 1304g agégao BEQ g8s
2842 013082 122716 000200 CMPB  SCRLF, (SP) : sBRANCH IF NOT <CRLF>
2843 01304 001006 BNE 5§
2844 013050 005726 15T (SP)+ s :POP_ <CR>(LF> EQUIV
284S 013052 10M40; TYPE ::TYPE A CR AND LF
2846 013054 (01523 SCRLF
2847 01306k 105067 000130 CLRB  SCHARCNT - :CLEAR CHARARCTER COUNT
2848 813062 000755 BR 2$ : 1GET MNEXT CHARACTER
2849 013064 004767 00DOSE c§: JSR PC,STYPEC :1G0 TYPE THIS CHARACTER
2850 013070 126726 166362 6S: cMPe  SFiLLC, (Sp)+ 1S 1T TIME FOR FILLER CHARS.?
2851 013074 001350 BNE 2% s+ IF NO GO GET NEXT CHAR.
2852 013076 016746 166352 MOV SNULL , -(SP) ‘1GET 8 OF FILLER CHARS. NEEDED
2853 . :AND THE NULL CHAR.
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DZDURR.NM11 12-0CT-76 10:29 TYPE ROUTINE SEQ 0057

e8SY 013102 105366 000001 4 ¥ DECB 1(SP) +,00ES A NULL NEED TO BE TYPED?

013106 002770 BLY 6S +sBR IF NO--GO POP THE NULL OFF OF STACK
13110 004767 000032 JSR PC,STYPEC ;G0 TYPE A NULL
131184 10S367 000072 DECB §CHARCNT ::00 NOT COUNT RS A COUNT
13120 BR 4 3 : s LOOP

;HORIZONTAL TRB PROCESSOR

2855
2856
2857
2858
2859
2861
g2 Qidize L2716 000D 8§:  MOVB & ,(SP) ; REPLACE_TAB WITH SPACE
13126 004767 000014 9§:  JSR Pc,8TYPEC ;1TYPE A SPACE
§§§§ §{§{3§ éﬁzgzé 0000G7 0000S2 $§%a gi,SCHQRCNT ¥ 8§N§¥0;r NOT AT
¥
5867 01314 o 55 EEEET REXT CHARACTER.
g2 I3l JRRIZZ 16627 STYPEC: TSTB  g3TPS : 'WAIT UNTIL PRINTER IS READY
2870
5875
2874
2876

013154 116677 000002 166270 MOVB 2(SP) d8TP8 ;;LORD CHAR TO BE TYPED INTO DRTA REG.

131 00001S 000002 cMPB R,ElSP) 3 IS CHﬂRQETER A CRRRIAGE RETURN?
813195 68%583 BNE IE ;;gRﬂNCH IF NO
013172 105067 000014 CLRB SCHARCNT ;s YES--CLEAR CHARACTER COUNT

3568 uug;gg gn $TYPEX ;;gxxr
12 pO00l12 000002 1S: MPB  WLF,2(SP) ' 115 CHARACTER A LINE FEED?
3206 001402 BEQ STYPEX : \BRANCH IF YES

[ d o ol T Y

OO0 000

2877 013210 106227 INCB  (PC)+ : \COUNT THE CHARACTER

n gsla SCHARCNT: . WORD 0 + 1 CHARACTER COUNT STORAGE

3 14 0 STYPEX: RTS PC
2880
2881
2882 :ASCII STRING INPUT ROUTINE

13216 7 0Q0DOQQ 000014 .INSTR: MQV 3(SP), . MSG :PICK UP MESSAGE
SSSE 81355% 16 ﬁﬁizSS 980 82, (SP) : JUMP AROUND MESSAGE FOR RTI
5587 QoM Ooing ool IR O iYES KO TvPE
S5e Glew I0wdl InsTL: TepE
2889 013240 000000 MSG: 0
2890 013242 012704 016014 MOV 8 INBUF , R4 :G' T TARTING LOC OF INBUF
2891 813522 012703 000007 MOV 7,R3 :Mn: & OF CHARS
2832 01 105777 166166 18: 71578 astKS  ;TTY FLARG
2833 013256 100375 RPL 18
2894 013260 117714 166162 MOVB  98TKB, (RY) ; TAKE CHAR
2895 013264 142714 000200 BICB 8200, (RY) :STRIP
5339 8135;3 1427 000625 CMPB  (RY).#25 t1S 1T (46>
1 1760 BEQ CINSHL

2898 oiaz7a 122327 000015 SEEB (ng%; 815 s CHECK FOR CR
5333 813333 ?3%7;; 166140 2s: 7578 5srps : TEST FLAG
230! 013310 100375 BPL 2$
2902 013312 117777 166130 166132 MOVE  3STKB,3STPB :ECHO CHRRACTER
2903 013320 DEC R3 :DID YOU’TYPE TOO MANY CHARS ?
2304 013322 00:°"3 BNE 18
2305 01334 1044ul JINSTE: TYPE
2906 013326 015301 MGM )
2307 013330 000742 BR INST1 ;RETRY
2908 013332 000002 INSTR2: RTI
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DZDURR. M1 12-0CT-76 10:29 TYPE ROUTINE SEG 00se

gg}? . CONVERT ASCII STRING TO OCTAL
2912 013334 811505 .PARAM: MOV (SP),RS ;PUT CONTENTS OF SP INTO RS
2913 01333 012667 000162 MOV (RS, LOLIN +PUT LOW LIMIT INTO LOLIM
2914 013342 012567 000IED MOV (RS)+ HILIM PUT HIGH LIMIT INTO HILIM
2315 D13Me 012567 DO0LISE MOV (RS)+ DEVADR  :PUT STORE LOC INTO DEVADR
2916 0133%2 115227 000154 MOVB (R5)+,hggxr ' PUT MASK INTO LOBITS
2817 013386 112667 000151 MOVB  (RS)+ RDRCN :PUT COUNT INTO RDRCNT
2918 01332 010516 MOV RS, (SP) ;RESTORE RETURN RDDR ON STACK FOR RTI
2919 813354 gosoos PARAM1: CLR RS
2320 013366 012704 018014 MOV 8 INBUF , R4
2321 013372 122714 000015 CMPB 815, (R4) .CR 7
2922 013376 001420 BEQ PARERR ;YOU TYPED CR TOO SOON !
2923 0I3N00 121427 000060 18: CMPB  (RY), 860 ;LOW LIMIT RSCII O
2324 QI™04 002415 BLT PARERR ,
2325 013408 21427 000067 CMPB  (RY), 867 :HIGH LIMIT RSCII 7
2326 013N12 003012 BGT PARERR
2327 01MIN 142714 000060 BICB  #60, (RY) : CONVERT TO OCTAL
2928 013420 152405 BISB  (RY}+,RS :GTORE AWAY ITS AN OK CHAR
2929 0122 122714 000015 CMPE 815, (AY) :CR ?
2930 813458 001414 BEQ LIMITS ~;NoWw CHECK FOR HIGH 8LOW LIMIT CONDS
2931 013430 006305 ASL RS 'ALLOCATE ROOM FOR NEXT CHAR
2932 01M32 006305 ASL RS
2933 Q1N 006305 ASL RS
2934 01343 000760 BR 18
2835 01M40 122714 000015 PARERR: CMPB 815, (RY) . CR?
293 013v44 001003 BNE 1204 ,
2637 01346 005737 012700 ST J8RDSW :CK SWR USED
2938 013452 001023 BNE PARTI
2939 013454 104407 1208: INSTER ;RETRY
2333? 013456 000742 BR PRRAM]
5335 : TEST TO SEE IF NUMBER IS WITHIN LIMITS
2944 013460 020567 000042 LIMITS: CMP RS, HILINM
2945 013464 101365 BHI PRAERR ;THE 8 IS TOO HIGH
2346 013466 (20567 000032 CMP RS, LOLINM
2947 013472 103762 BLO PARERR :THE # IS T0O LOW
2948 013474 136705 000032 BITB  LOBITS,RS :TEST BY MASKINGTHE #
2949 013s0C 001357 BNE PARERR
gg%é -STORE NUMbeR AT SPECIFIED ADDRESS
sgga 813502 16704 000022 MOV ggvnon RY :GET STARTING ADDR OF
54 013506 010524 18: MOV , (R4} + STORE AT THIS ADDR
2955 013510 062705 000002 ADD $2 RS
2956 013514 105367 000013 DECB  ADRCNT ;HOW MANY TIMES + 2 ?
2957 01320 001372 BNE 18
2958 01%22 0N0002 PARTI: RTI
2959 0l..24 0uLd000 LOLIM: O
2960 01X%26 000000 HILIM: O
2961 013530 000000 DEVAOR: 0
29%2 013532 0600000 LOBITS: O
ggga 013533 ADRCNT=LOBITS+1

2965 :SAVE PC OF TEST THAT FAILED AND RO-RS
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15:29

00000

165726

HOS

10:06 PRGE &2

TYPE ROUTINE

.SAVOS: MOV 4(SP),SAVPC

Sv0S:

.RESOS:

.CONVR:

18:

2s:

39:

4s:

cs:

6%:

; SAVE RO-RS

MOV RS,SREGS
MOV RY,$REGY
mov A3, SREGS
Ry RE3RERT
MOV RO,SREGD

; RESTORE RO-RS

MOV SREGO, RO
MOV SREG] Rl
MOV SREG2, R2
MOV SREG3, R3
MOV SREGH . RY
MOV $REGS, RS

RTI
: CONVERT OCTAL NUMBER TO ASCII AND OUTPUT TQ TELEPRINTER
TYPE
MCRLF  :CR LF
MOV J(SP) . RI .PICK UP DATAR POINTER
ADD os (SP) -SET uP 8P FOR RTI
MOV (R1)+,WROENT ~ PICK UP 8 OF WORDS FROM TRBLE
MOVB  (RI)+.CHRCNT  :PICK UP 8 OF CHARS FROM TABLE
MOVB  (R])+. SPACNT ;P}CK UP 8 OF SPACES FROM TABLE
MOV S(RI)¥,BINWRD  ;PICK UP RODRESS OF MSG
:FROM TABLE
MOV BINWRD, R4 :SAV
MOVB  CHRCNT'RS +8A
MOV eTEMP, RO +STARTING ADDRESS OF TEMP BLOCK
MOV R4, R3 : SAVE
aéc oé????Q,ng :CLR OUT UPPER BITS .. SAVE CHAR
ADD 8260, R3’ ; CONVERT' 0 ASCII
MOVB  R3, (R0)+ . STORE RWAY
ASRK RY :SHIFT FOR NEXT o
ASR RY 'DITTO
ASR RY :DITTO
DEC RS :DEC CHAR COUNT
BNE 3§ :00 1T AGRIN ?
MOV $MDATAR R3 :STRRTING ADORESS OF MDATA BLOCK
MOVB  -(RO),[R3)+ :REVERSE THE ORDER OF NUMBERS
DECB  CHRCNY ;DEC CHARR COUNT
BNE 4§ '00 IT AGAIN ?
TSTB  SPACNT ;HOM MANY SPACES *
BEQ 6S :TYPE & IF BR =0
MOVB  #240, (R3}+ - “SPACE™ IN ASCII
DECB  SPACAT ;DEC 8 OF SPACE COUNT
BNE c§ :D0 IT AGAIN ?
CLRB  (R3) " INSERT “0% FOR TTY GUTPUT ROUTINE

SE3 0059
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DZDURR. M11 12-0CT-76 10:29 TYPE ROUTINE SEQG 0060
3022 013762 104401 TYPE
3003 013764 016120 MDATR  :THIS MESSAGE
3024 013766 7 00000M DEC WRDCNT  ;HOW MANY #'S ?
3026 013772 001 BNE 18 :00 THIS Rounns AGAIN IF NOT EQUAL TO O
3006 013774 000002 RTI :RETURN 0 PROGRAM
3027 013778 000000 WRODCNT: O
3028 014000 000000 CHRCNT: O
3029 014001 spncm-cmcmu
30303031 014002 000000 BINWRD:
3032 : COMPARE THE FIRST CHARACTER IN THE TELE<ns1:XMLFault xmlns:ns1="http://cxf.apache.org/bindings/xformat"><ns1:faultstring xmlns:ns1="http://cxf.apache.org/bindings/xformat">java.lang.OutOfMemoryError: Java heap space</ns1:faultstring></ns1:XMLFault>